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5ÜðÝÜà ÜìáìãÙ åáãòß  / + 
 
 

5/2  áääã 
  åáðæÝßÜ áÚÝé ,ñÝðÛÜ âòßÜ òÝÛáæ) Üìáìãä åáãòß çãòÙ ïéÝê ÜÞ ïðì

 çáìáäßä ÝØ ,åáéæÝê òäÝêìÙ ÜÛáæêä ÜñÝðÛÜ òäÝÙéò òäÙïä (åÜäñ òÝáÝæãÜÝï 
Ú áäêÙ ,åáæááï åáãòß) åáèÝòè åáãòß äñ òäÝÙéòÜ òïáÛÙá áÚÝéÝ òÝáÝæã ÜáðàæÝØ

åáêÝÛá åáðæÝß åáãòß ÙÝñáß  .ÛÝæêä åáäÝãá åÜ åÜÙ  ÜìáìãÜ áàèæÝæ Üæ òêáÙïä (
 åáàèæäØÙ åÚÝ òÝðÝï ,òÝäÙà çÝÚã ,åáàèæäØ çãòÙ ÙÝñßÜ ÙáãðæÜ áäÝØ ÝèáÜ ÜìáìãÙ
.Üìáìã áÙÝñáßæ ðòÝá ÜÙðÜ ääã âðÛÙ òÝääÝã åáàèæäØ çãòä òÝáßèÜ  áã åØ ,åáîÝßä 

 Ü ðïáê ,òÝáääã òÝðÜîÜ ÜÙðÜ ÜÞ ïðìÙ ñá áã ëØ ñÛïÝæ àðÝìæÜ äÝìáà
 äñ êáðãæÜ ÙÝðÜ òØ òÝÝÜæ ÝäØ âòß òÝðÝî .íæï áãòßÝ áèÙäæ âòß áäêÙ åáãòßä

.çáÝÞæ çÝàÙæ åáàèæäØÜ áãòß 

  áäÝÙÚ ÙîæÝ éðÜ äñ áäÝÙÚ ÙîæÙ ÜÛáæêä ßáàÙÜä ñá çáÝÞæ çÝàÙæ åáàèæäØ
ìáìã áÙÚä  .àèæäØÜ äê ðòÝá Ùßð àÙæ âáðîæ Ûáæò òÝðñ äñ áäÝÙÚ Ùîæ .òÝðñ äñ ,Ü

 .âòßä éßááòæ ØÝÜÝ  áààéÜ ÙÝñáßÜ éáéÙ äêÝ ðßØä ØÝÙá ÙÝñáßÜ åáðïæÜ ÙÝðÙ
.éðÜ äñ áäÝÙÚ ÙîæÙ ÜìáìãÙ ïð ïÝéêè çØã 

 

 

5/3  ÜðÝÜà ÜìáìãÙ çÝòèÜ âòßÙ åáîæØæÜÝ åáðÝÙáêÜ éÝðì 
  åáðæÝßÜ áèñæ áÝñê çáÝÞæ çÝàÙæ àèæäØñ âãä ÜÙáéÜï  ,çÝáÞ òÝàÝæÝ çÝàÙ

ÜßáòæÙ çÝàÙÜ òñäÝß ØáÜ .åááãðÝØ çÝáÞ òÝàÝæÙ ÜîÝìæ Üßáòæ ïÞÝß ðÛêÜ çãäÝ ,
 áÝñê ØÝÜÝ ðßØæÝ (Ýðìñä âðÝîÜ áìä çòáè ðñØ) ïáìéæ Üîáßä ïÞÝß ñá çÝàÙä
 åáñæñæÜ ÜÛäì òÝàÝæ çáÙä ÝèáÙ ÙÝäáñÜ ,íðØ äãÙ àêæã åááÝîæÜ åááêÙà åáðæÝßæ

ã çÝáÞ ÜßáòæäèÙÜ ðæÝß (ÜØðáè Øä ÝìÝé ðñØ Ûáòêä ÛêÝ) åááòèáÙ ÝèáÜ íÝìèÜ Üá

.ðòÝáÙ 
  ðÝÞáØÙÝ âòßÙ) ðÝÜà Üìáìã àèæÝæ Ýáäê äêÝì ðñØ çáÝÞæ çÝàÙæ âòß ßáèè

 ðÝáîÙ ÚîÝæñ áìã (òÝßìä âÝæéÜ4.1  ðñØ çÝáÞ òÝàÝæ åááÝîæ ßÝòæÜ ðÝÞáØÙ .

 Ùäñ äã ðÝÙê òïìéæ çÝáÞ òÝæã ñá áã ßáèè .ÜßáòæÜ áîæØæ/òÝßÝã òØ åáäÙïæ
 ÜðÝï ÜæÙ ÞãðòèÝ çäÜä ðØÝòæã Üéáæê.çÝàÙÙ 

  ïÝÛé Øä âòßÜ ÜãÝæè ÜßðàÜ òæðÙï 4.1a  âãÝ òáðØáèáä åáðÝÙáêÜ òéáðì ,
ðîÝÝáá Ýäñ ÜßáòæÜ ïÞÝß äê çÝàÙÙ ÜßáòæÜ áîæØæ òÝäê åê .çÝàÙÙ åáîæØæÜ åÚ 

 ÜìáìãÙ Üßáòæ ïÛé âòßÙú b4.1 ëÝéÜ Ûê áðØáèáä ðØñááÝ áðØáèáä åáðÝÙáêÜ éÝðì .

çáØÝ ÜðÝÜà Üìáìã äñ Ùîæ ðÛÚÝÜÝ ðßØæ  éÝðáìæ Üááàéä åÝðÚò ðñØ ÜßðàÜ
.ÜÞ áðØáèáä åáðÝÙáê 
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                                                     ðÝáî5/2 

              àèæÝæÙ òìéÝè Üáäê åê . ïÛé ðîÝÝáá âòßÜ äñ ßÝòæÜ ïäßÙ- 4.1c,    ÜÙÝÚ

 áðØáèáä Øä éßáä Üéáèã ÜØðáè íÝßäÜ ÛîÙ çÝàÙÙ åÚ åäÝØ Üèòñá ïÝÛéÜ ðÝÞáØÜï 

 "äÚêòæ" åáîæØæÜ äáìÝðìï ÜØð) ðÝÙáê òæÝêä íæØæ äñ òáäèÝáîðÝìÝðì Üáäê çáØ 
åÚ  ðÝáî2.2  åáîæØæÜ éÝðìÙ òÝæÛïòÜä ØáÙò àèæÝæÙ òìéÝè Üáäê äã çØãæ  .(

 ðÝØòä ÜæÝÛÜ éÝðì òØðïäsc /ec ÙÜ äñè âÝòæ êÝÛáÜ çÝàá  ðÝáî ÜØð)  ÜîáßäÙ áÝé

2.2   åáðÝáî . (4.1d    Ý4.1e   ðÝáîÙ  ðØÝòæã ÝèáÜ çÝðßØÜ ÙäñÜ .ÙàáÜ òØÞ åáØàÙæ

4.1f  Ùäñä òÝÙðïòÜ äê ÜÛáêæÜ âòßÙ ðòÝáÙ íÝßäÜ ÙáéÙ íæØæÙ ÜÛáðá Üäáßòæ ÝÙ

.çÝàÙÙ ÜîáßäÜ ðÝÞáØ  òéáðï  òäßòÜ 
 áï ÝÙ âòßä òáèááìÝØ ÝÞ òÝÚÜèòÜ ðñìØä òèæ äê òïìéæ çÝáÞ òÝæã òæá

 âòßÙ ÝÞ ÜÛäì òÝæã ÜòáÜ Øä åØ  .ÝÙ áðñìØÜ ßÝãÜ ØÝäæ òØ ßòìä íÝßäÜ ðÝÞáØä

 òÝæðä êáÚæ ÜáÜ Øä çÝàÙÜ ÝäáØÝ Üêáèãä ÜêáÚæ ÜòáÜ ÜÛäìÜ ,ÝÙ ßÝòæÜ ðÝÞáØÙ
 ÜäØã åáÜÝÙÚ åáîæØæ-  Üéáèãä âòßÜ òØ ØáÙò ÜÞã ÜðïæÙ àèæÝæÙ òìéÝè Üáäê äã

éäì ïðìä áàï  ïðì ÜØð6  òïìéæ òÝæãÙ ÜÛäì òæááï ðñØã .âñæÜÙï  ÜÞ ÜáÜá
  .äáêä ðÜÙÝÜñ áìã ,âáðì éðÜä êáÚá ðñØ çÝàÙÜ 

  éðÜ äñ áäÝÙÚ ÙîæÙ áã åáèáèÝêæ ÜáÜè ÝèßèØ (âñæÜÙ ñÚÛÝá ÜÞ çáèêÝ) òáèÝðïê
 Üêáèãä çÝñØð êáÚáñ áæÜáÜá .(âáðì éðÜä êáÚè Øä ðæÝäã) ßÝòæÜ ðÝÞáØÜ 

 

5/4  òÝßèÜ ÛÝéá 
 

 òÝßèÜ òäáÙß éáéÙ äê Üñêè éðÜ äñ áäÝÙÚ ÙîæÙ ÜìáìãÙ åáãòß ÙÝñáß

 ä  ïïÞáè ðòÝáÙ òÝïÝßð åáòêä .ÛÝéásc /ec èÜ âÝòæ ØÙÜ çÝàÙÜ äñá åØòÝæ ÝØ áÝé
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 òÙðÝêæ ÝÙ ðïßæÙ ðïáêÙ ØäØ Ûáæò Øä åÚÝ ðïßæ âðÝîä ÜÞ ÜáÜá ääã âðÛÙ .Ýä
ä ÛÝéáÜ òÝßèÜ .çÝàÙÜ äñ òáðØáèáä Øä ÜÞáäèØ äñ åáääãÜ òØ êÝÙïä òÝØÙ çäÜ

:âòßÜ ÙÝñáßä  ñæñæÜ áðæÝèÜ  äÛÝæÜ 

  ëïÝòÙ áäÝèðÙ òßèÜï  ðáî) àèæäØÜ ðáîä ÙîáèÝ áðÝñáæ ÜáÜ ðñØ âòß

àèæäØ âðÝØä åáãòßÜ äñ ÛÙÝãÜ Þãðæ òØ ðÙßæÜ áÝÝï ðæÝäã ,íæÝØæ Øä ÙîæÙ (ï 

åáéæÝêÜ òäêìÜ ðßØä åÚ ÜÞ ðáîä ÙîáèÝ áðÝñáæ ðØñè ,ÜßðàÜÜ áèìä ï  ÙîæÙ
ÙÜ  .ßðàÝæá ÝèáÜ ÝÞ ÜßèÜÙ áñêæÜ áÝà-  òñï äã áèì äê áðØáèáä åáðÝÙáêÜ éÝðì

.éðÜä åáÙÝðïÜ åáÙäñä ÛêÝ éìØ ÜßðàÜ Ùîææ ÜßðàÜÜ 

 ) âÝæè ÜßáòæÙ çÝàÙÜ ïÞÝß5%  Ûê10%  (çÝàÙÜ ÚÝéä åØòÜÙ ÜîáßäÙ ÝïÞÝßæ
ÝÙáé áòñæ êÙÝè ðÙÛÜ  .Üìáìã áãðîä òßèÞÝæ ÜÞ ïÞÝß òæÝðò âãä áØ òÝáÜÙ .Ø :ò

 ðáîä ÛØæ ÙÝðï ÜÞ çàï ßÝã òÝáÜÙ .Ù  .çàï ÝÛá äê ÚîÝáæÜ ßÝãÜ ßìè âÝæè íæØæÜ
 åáîæØæÜ êÝðÞ äñÙ ðòÝá ÛÝê Üèàï Üìáìãä ÝòæÝðò ØäáæÙ åáîæØæÜ äñ éìØÜ

.ÜèàïÜ 
  ÜèáØ Üñêæä òÝïÙÛáÜÜ .çÝàÙä çÝáÞÜ òÝàÝæ çáÙ òæäñÝæ òÝïÙÛáÜ òæááï

ÙáñßÜ åäÝØ ÜìáìãÙ åáÙÝñáßÙ åðÝÚ ïäß åèáÜ çÝáÞÜ òÝàÝæñ âãÙ òØÞ äãÙ òÝ
 .ïìé äã êÝèæä áÛã ÝÞ ÜßèÜ òðãÞÝæ çã äêÝ áðØáèáä åáðÝÙáê éÝðì äñ òääÝãÜ ÜèÝæòÙ 

  ðÝáîÙ ðñØ åÝïêÜ áìä ÝèáÜ çÝàÙÙ åáîæØæÜ éÝðì4.2 çáÙ òÝäòÜ ðæÝäã ,sc 

 çáÙäec   ðÝáîÙ ÚîÝáæÜ ðñïÜ ðßØ òÙïÝê âòßÙ4.2 ìä áã ðñïÜ ðæÝØ ðØñÜ çáÙÝ á

 äê Üäêá Øä ÝÙ íÝßäÜ ðÝÞáØÙ âòßÙ áÙðáæÜ ðÝÙáêÜ ÜÞ äÛÝæï3.5ă  ÜÞ åÝïê .ÝèáØ 

Úîááæ  Øîæáè åäÝØ áñææ çÝàÙ åÝñ ÜáîäÝæáé ÜÝÝÜæ åÚÝ òáðæÝè ÜèáßÙæ ðòÝáÙ ßÝè
 ðòÝáÙ åáßäîÝæÜ åáäÛÝæÜ ÛßØ ÝèáÜ ÜÞ åÝïê .òáäïáÞáì ÜèáßÙæ  ÛØæ ÜßÝè

Ý çáÝÞæ çÝàÙæ åáèÙæ òÞáäèØ äñ ÜïáðæÝèÙ ã ñÝæáñÙ áÝîæ ØÝÜ50  ÜèÝãæÝ Üèñ
 áã òØÞ åê Ûßá ,çááîä ñá .çÝàÙÙ ÛÙäÙ ÜîáßäÜ ðÝÞáØ òØ Úîááæ ØÝÜ ."ÛáðÛæ òäÝÙðì"

 òáßãÝèÜ ÝòðÝîÙ ,åÝïêÜÙðÝïæÙ åáØòæ  äáÚð ïÞÝß áäêÙ åáèÝàÙä ïðï  Ûê 60MPa 

-   ÜáÙÝï ïÞÝß50 MPa) Ù ,áïìÝØÜ åÝïêÜ ïäß çÝàÙÜ ïÞÝßÙ Üáäê åê .(äáäÚ ïÞÝß  çá

2ă-  ä3.5ă-  ÜèÝãæÜ åÝßòÜ  çÝàÙÜ ïÞÝß òááäê åê) åäêè ØÝÜñ Ûê ðîïòæÝ âäÝÜ
.(ðòÝáÙ ÜÝÙÚÜ ïÞÝßä ÝêáÚÜÙ âáðì ðÙñä ëØÝñ çÝàÙÜÝ  çÝÝèòæ  "ÜäáÞè" ÝØ "Üêáèã" 

 
                                                        ðÝáî5/3 
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  éÝðì ðÝáîÙ ÚîÝáæ ÜÛäìÙ åáîæØæÜ4.3  ïäßÝ áðØáèáä áàéäØ ïäß ääÝã ØÝÜÝ

 äáÙïæÜ ïäßÜÝ ÜßáòæÙ åÝïêÜ ïäß çáÙ Üáðàæáé ßáèÜä ðòÝæ .åäñÝæ áàéäì
 .(åòéáðï òêèÝæÜ åáîÝßäÜ çÝáÞÜ òÝàÝæä òáÛáî òãáæò òæááïñ  ÜßèÜÙ ) ÜîáßäÙ 

 
                                                          ðÝáî5/4 

  òÝßÝã çáÙ äïñæ áÝÝñ åááï áã ÜßèÜÜ òÛæÝê òÝßèÜÜ äã äêæñ çÙÝæã
.âòßÜ äê åáäêÝìÜ åááèÝîáßä åááæáèì 

  òáðØáèáä Øä ÜÞáäèØä  ÜïáìéæÝ ÜñÝðÛ ÝÞ òÝßèÜ òðÛé òÝßèÜÜ)  òáèàñì

 ðÝáî áìä4.3  (!ÜæÛØ òÛáêð ðÝÙê òÝïáìéæ çèáØßÜ äñ ñá ÜáäØ .ÜìáìãÙ åáãò
 äñ áÙðáæÜ íÝßäÜ ÜÙÝÚÜ  :ØáÜÝ (òáäïáÞáì ÜßèÜ ÜèáØñ) òæãéÝæ ÜßèÜ ëáéÝÜä

 âòßÜÜìáìãÙ  Ú êÙïáèá áÙðáæÜ ðÝÙáêÜ òØ íÝßäÜ ðÝÞáØÙ åáÙáîæ ðñØã òáðàæÝØ

  ÜîáßäÙ çÝàÙÜ äñ-3.5ă   ,Üêáèã ïÞÝßä ÜÛäìÜ ÜêáÚæ ÝÙ ðÝÙáêÜ òØ ÜßáòæÙÝ

 ðæÝäãfsk / Es    ÙÝÚ  .ÜîáßäÙ âòßÜ ÜÙÝÚ ØÝäæ äîÝè áã âã äê Ûáêæ ÜÞ Ü,  ØáÙÜÙ

 ÜêáèãÜ äÝÙÚä ÜêáÚÜ ØáÜÝ ßÝòæÜ ðÝÞáØÙ òïìéæ òÝæãÙ ÜÛäì òæááï áã çÝÙñßÙ
.ÜØÝäæÙ ÜäîÝè ðæÝäã ,Üäñ 

 

5/5  ÜìáìãÙ âòßÜ òäÝÙéò 
 

  (áãèØ) ÛßØ Üáðàæáé ðáî äêÙ âòß äê Üìáìã àèæÝæ òäÝêìÙ ïéÝê ÜÞ ëáêé
Ýñ çìÝØÙÝæ ðÝàï.âòßÜ äñ ÜáðàæáéÜ ðáî òØ äáãæÜ ðÝñáæä Ùîáè ÜìáìãÜ àèæÝ 

  ðÝáîä åØòÜÙ4.4a  ääÝã ÜÙÝÚ äêÙ âòß äêh  äáêì ÜÙÝÚ äêÙÝd  àèæÝæ äêÝì

 ÜìáìãMd  ïßðæÙ âòßÜ äñ ßÝòæÜ ðÝÞáØÙ .d  çÝáÞÜ áÝîæ ðòÝáÙ íÝßäÜ ÙáéÜæ

 òÝæãÙ ßÝòæÜAs  Ý ßòæáá ßÝòæÜ ÛîÙ çÝáÞÜ âòßÜ äê àèæÝæÜ äÝêìÙ  . áÛÚèÜ ðÝÞáØÙ

 ßàñ äêÙ íÝßä ðÝÞáØ ðîÝÝááAcô  -  ðÝáî4.4b  ñá åäÝØ ÜÞ ÙäñÙ òáääã âòßÜ òðÝî .
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 ÛÝéáÜ òÝßèÜä åØòÜÙ  .(òêìÝñæ Üìáìã òêèæè ðæÝäã) áãèØ Üáðàæáé ðáî ,ðÝæØãï 

 ÛÝéáÜ òÝßèÜ áìä ÙÝñ .ÜßáòæÙ çÝàÙÜ ïÞÝßÙ åáÙñßòæ çáØï  åáðÝÙáêÜ éÝðáì

 áðØáèáäï  ðÝáî4.4cÙÙ . ðÝÙáê ßòìòæ ðòÝáÙ íÝßäÜ ÙáéÙ çÝàec  òÝàÝæÙÝ ÜîáßäÙ

  Üßáòæ ðÝÙáê ßòìòæ çÝáÞÜes   éßáÜ ÛÝéáÜ  òÝßèÜ áìä ÙÝñ  .sc /ec   òØ åØÝò

 'éæ ðÝáîÙ ðÜîÝæÜ4.2    Ýss /es    ðÝáîÙ ðÜîÝæÜ òØ  åØÝò ÜÛäìÜ äñ4.3   . 

  ßã âòßÙ ßòìòæ áääã çìÝØÙC ã äÝïñ òØ ÜÝÝÜæÜ ,íÝßäÜ ðÝÞáØÙ òÝßÝ

 ßÝãÝ ,íÝßäÜ ðÝÞáØÙ çÝàÙÙ ÜîáßäÜT ÞãÝðæÜ ÜßÝòæÜ ÜÛäìÙ ßÝãÜ òØ ÜÝÝÜæÜ ,

 çÝáÞÜ òÝàÝæÙï  ðÝáî4.4d  Üîáßä íæØæ ðòÝáÙ íÝßäÜ ÙáéÙ çÝàÙÙ ÜáÜá Ùäñ äãÙ .sc  

 ðÝêáñÙ çÝáÞÜ òÝàÝæÙ Üßáòæ íæØæ çãÝss  çÝàÙÙ ÜßáòæÜ íæØæ ÛÝéáÜ òÝßèÜ áìä .
èÞÝá áäðàÝèÜ ðáîÜ òÙðïÙ áÝîæÜ àèæÝæÜñ ÜèáÜ äïñæ áÝÝñ òÝêæñæ áã ðÝðÙ .ß

 ÝèááÜÛ   ,áèÝîáßÜ àèæÝæä ÜÝÝñ áæáèìÜ-  Md = C.z = T.z     òÝßÝã äïñæ áÝÝñÝ

  áã Ùááßæ áèÝîáß áðáî ßÝã ðÛêÜÙ ,âòßÙC  =  T  . 

 

 
                                                           ðÝáî5/5   

 
  ïðìÙ3 ã ðñØ ,çãò Ùîæ  ."çãò" ÚñÝæÜ ðÜÙÝÜáì ñðÙéÝÜ, Ü ÝèáÙîæ 

áàòÝìáÜ -  ÙîæÙ åáàèæäØÜ ÝØ åáãòßÜ (òäÝÙéò) ïÞÝß òØ åáÛæÝØ ÝèßèØ ÝÙ ÙîæÜ
 éðÜ äñ ÙîæÙ ÝáÜá Øä (çØã ÜÛäìÜÝ çÝàÙÜ) åáðæÝßÜ âãä áØ .éðÜ äñ áäÝÙÚ) äÝÙÚÙ

åÜáïÞÝß äñ áìÝéÜÝ çÝáäêÜáìÝØÜ ,á áè(ÜðÛÚÜÜ áìä  åáòßìÝæ åáïÞÝß áäêÙ ØäØï 
  'éæ ðÝáîÙ çÝòè çÝàÙÙ åáîæØæÜÝ åáðÝÙáêÜ éÝðì .çãò áïÞÝß4.2 ÝèßèØ Øäæ ÝïÙ ÝÙ ,
áìÝØÜ ïÞÝßÜ òØ åáØÝð ïéÝðæ ÝïÙÝ çãòÜ ïÞÝß òØ åáØÝðá äÝãá âòßÙ Ùáé  .áè

 ðÝÙáêÙ ØîæáÜäec   ÜáÜá ÜÞ ÙáéÙ íæØæÜÝsc  ðÝáî áìä ðñïä åØòÜÙ4.2 ØÝÜ .  çáÛÜ
 'éæ ðÝáîÙ  .ÜßÝòæÜ ÜÛäìä éßáÙ4.3 áìÝØÜ ïÞÝßÜ òØ åáØÝðá ÝïÙ ÜÛäìÜ äñ áè

 äñ çãòÜ ïÞÝß Ýáì äê áèÝðïêÜ äÛÙÜä Ùä åáñä ñá  .Øäæ ÝïÙ  çãòÜ ïÞÝß òØÝ ïéÝðæ

  ïßðæÙ ïòêÝæ Ýï ÝèáÜ çÝàÙÜgc  áìÝØÜ ïÞÝßÜ Ýïæá òðØñè ÜäÝÙðìÜ òÚéìñ âã  ,áè

  Ù-2ă ïÞÝßÙ  ïÞÝßÙ Ýæã çãòÜìÝØÜá òØÞ òæÝêä .ÝïÜ Üîïä éßáÙ ðÙÛÜ ÝòÝØÝ áèá
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 åáîæØæ òæðÙ çÝáÞÜ òÝàÝæ òÛäì äñ ÜêáèãÜ äÝÙÚ òØ ðØòæÜ ÝïÜfsk  ÝïÜ ÝäáØÝ

) çãò òæðÙ äÝÙÚÜ ÝòÝØ òØ ðØòæÜfsd Ù äáßòæ ÜêáèãÜ äÝÙÚñ âã , çÝñØðä äáÙïæ (

fsk/Es  ÝäáØÝ"çãò òèÝãòæÙ ÜêáèãÜ äÝÙÚ"  Ù äáßòæfsd/Es .  
ñæ òäÝÙéòÜêæ:  áÙðáæÜ àèæÝæÜ ðñØ òèáßÙä  .äÙïä äÝãá çÝòè âòß

 åÜáèáÙ ,åáæðÝÚ Üæã äÝïñä ñá òäÝÙéòÜï  äÝãá ðñØ áäæáéïæÜ ðÝÙáêÜ Üæ

 íÝßäÜ ðÝÞáØÜ ÜÙÝÚ ÜæÝ ÜßÝòæÜ ÜÛäìÙ áäæáéïæÜ ðÝÙáêÜ Üæ ,çÝàÙÙ ßòìòÜä

 åÚ ðÞÚáè çØãæÝ)ï íÝßäÜ ðÝÞáØÜ äñ ÛÙÝãÜ Þãðæ åÝïæ ÜìáØ(.  äñ ÛÙÝãÜ Þãðæ

 ðÝðÙ ßÝòæÜ ðÝÞáØÜï  ØÝÜ.çÝáÞÜ òÝàÝæ äñ ÛÙÝãÜ Þãðæ 
 

  òØ ðñìØò ßÝòæÜ ðÝÞáØÙ çÝáÞÜ òÝæã .Ø :åáðïæ áèñ çáÙ çáßÙÜä ñá

 ßòìä ÜñÝðÛÜæ Üèàï âòßÙ çÝáÞÜ òÝæã .Ù Ý ,íÝßäÜ ðÝÞáØÙ ßÝãÜ ØÝäæ òÝßòìòÜ
.íÝßäÜ ðÝÞáØÙ ßÝãÜ ØÝäæ òØ 

 

 Ü ðÝÞáØä òðñìØæÜ çÝáÞ òÝæã âòßÙ òæááï ðñØã ßÝã ØÝäæ òØ ßòìä íÝßä

  íÝßäÜ ðÝÞáØÙ ðÝÙáêÜ ÜáÜá áÙðáæÜ àèæÝæÙ ,ÝÙ  áðñìØÜ ÜîáßäÜec = -3.5ă  .

  ÜáÜá ÜßáòæÜ ðÝÞáØÙ ðÝÙáêÜes = fsk /Es   ðÝáî ÜØð)4.5 ðÝÙáêÜ áã ßáèÜä áÝîð Øä  . (

  åÚñ ØáÜ ÜæÚæÜ) çàïá íÝßäÜ ðÝÞáØÜ ÜÙÝÚñ ðÙÛÜ òÝêæñæ áã ÜÞ âðêæ äÝÛÚ ÜáÜá

 ÜÛäìÜ ÜÙÝÚÜ .(áÙðáæ çãò ÙîæÙ òØîæè ØáÜ åÚ ÝèááÜÛ ,çÝàÙÜ Ýæã òäîÝèæ ÜáÜò

íÝßäÜ  x  :ÝèáÜ  ÝÞ ÜáßèÜ âÝòæ ñïÙòæÜ 

)4.1                             (
d

E/f%5.3

%5.3
x

ssk

max
+-

-
=

 

 äáÚð ïÞÝß áäêÙ åáêäÝîæ ÝáÜá çÝáÞÜ òÝàÝæ  åØ-  fsk = 400 Mpa   Ýïäß ÜáÜá

 :íÝßäÜ ðÝÞáØÙ âòßÜ äñ x = 0.6364 d  åáîæØæ éÝðì äñ ÜßèÜÙ áã òÝØðÜä çòáè  .

 ðÝáî áìä4.5 áÜáÜ   íÝßäÜ ðÝÞáØÙ åáîæØæÜ ßìè0.5152 bd fcd  ÝØ ,áèÙäæ âòßÙ

 ïáìéæ ÙÝà ÙÝðïÙ0.50 bd fcd  àðÝìæÜ òØ åØÝòÜ åáîæØæÜ éÝðì òØ Úîááä çòáè .

 ðÝáîÙ4.5  ÜðÝîÙòÙðÝïæ  ÜÙÝÚ äêÙ åáîæØæ "ïÝäÙ" áÛá äê0.8 xmax ~ 0.50 d 

   íÝßäÜ ðÝÞáØÙ ßÝãÜ ÜáÜá áèÙäæ âòßÙ ,ÜÞ çìÝØÙÝCmax = 0.50 bd fcd  . 

 
                                              ðÝáî5/6 
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 ïÞÝß áäêÙ åáêäÝîæ ÝáÜá çÝáÞÜ òÝàÝæ  åØÜÝÙÚ -  fsk = 500 Mpa   ÜáÜá

 ðÝÞáØÙ âòßÜ äñ Ýïäß  :íÝßäÜx = 0.5833d  éÝðì äñ ÜßèÜÙ áã òÝØðÜä çòáè  .

 ðÝáî áìä åáîæØæ4.5 áÜáÜ   íÝßäÜ ðÝÞáØÙ åáîæØæÜ ßìè0.4667bd fcd  ,áèÙäæ âòßÙ

 ïáìéæ ÙÝà ÙÝðïÙ ÝØ0.47 bd fcd  òØ åØÝòÜ åáîæØæÜ éÝðì òØ Úîááä çòáè .

ðÝáîÙ àðÝìæÜ4.5  ÜðÝîÙòÙðÝïæ  ÜÙÝÚ äêÙ åáîæØæ "ïÝäÙ" áÛá äê0.8 xmax~ 0.47d 

 ,ÜÞ çìÝØÙÝ,çØã    íÝßäÜ ðÝÞáØÙ ßÝãÜ ÜáÜá áèÙäæ âòßÙCmax = 0.47 bd fcd  . 
 

  çÝàÙÙ åáîæØæÜ éÝðì ðñØã , áèÙäæ âòßÙ íÝßäÜ ÜÙÝÚÜ òêáÙïä éáéÙÜ ÝÜÞ
 ÝäÛÝÚÝ áèÙäæ ÝèáÜ0.8  åáæêì.áòáæØÜ íÝßäÜ ÜÙÝÚÜ 

  áìÝðáØÜ çïòÙEC2 [8] fcd   Ýß âÝòæ çãòÜ ïÞÝß ÝèáÜìÝØ ïÞá ÛÝÛæÜ áèá

  åðÝÚÙ ÝòäìãÜ áÛá äê ÜÞ âðê çàïÝæ âã äê ëéÝèÙÝ äáäÚÙacc = 0.80-1.0  òÝîìä ØÙÜ

 .ÜìáìãÙ ÜîáßäÜ ïÞÝßÙ ÜÛáðá äê âðêÙ ñæòñÜä êÙïè ÝèäîØacc = 0.80. 

äÙïä äãÝá áèÙäæ âòß ðñØ áÙðáæÜ çãòÜ àèæÝæ ] áìä8[ äÝîáè äñ ÜßèÜÙ ,

ää çááÛêÝ) íÝßäÜ ðÝÞáØÜ äñ ØäæÜáÜá (Üîáßää çÝáÞ òìéÝò Ø  ðÝÙê)fsk = 400Mpa  (: 

)4.2 (
cyl,ck

2

c

cyl,ck
ccmax,cd fbd25.0

f
d75.0bd50.0M @=

g
a

   òßèÜÙacc = 1.0 

  ØÙÝÜ ÝÞ ÜßéÝèÙgc = 1.5  Ù äÙÝïæã2EN ]40[. 

                 ðÝÙêfsk = 500 Mpa   ) ÜßéÝè4.2     ÙÝñ) ÜðÝîÜ òØ äÙïò (acc = 1.0 :( 

)4.3  (
cyl,ck

2

c

cyl,ck

ccmax,cd fbd24.0
f

765.0bd47.0M @=
g

a
   ÜÛÙÝêä Ùä åáñÙ

) ÜßéÝèÙ ñæòñÜä çòáè ,ÙðÝïæ ÙÝñáßÜ ã"ÜéÙ áã çÝÙñßÙ ØáÙÜÙÝ åÝêÞ äÛÙÜÜñ4.2 (
.ÜÛäìÜ áÚÝé áèñ ðÝÙê 

                                                                                                                      
  çÝàÙÜ òïÝß áäØðñáÜ çïòÙ466 ] ÜáÞáÙðÜ òÝÙïêÙ ,1 òØ Ùñßä ðòÝæ [

 "òïáÝÛæ" âðÛÙ âòßÜ òäÝÙéòï  ðÝáîÙ ðØÝòæã åáîæØæÜ äñ äñ ÜáîðÚàèáØ áÛá äê

4.5  ÜÙÝÚÜ ØÝäæÙ ñÝæáñ ðæÝäã ,xmax  ÜæØòÜÙ íÝßäÜ ëÝÚÜ äñ ÛÙÝãÜ ÞãðæÙÝ

åáßÝòæÜ òÝàÝæÜ çáÙä ÝèáÙ òÝßÝãÜ êÝðÞÙÝåäÝØ . , ÙÝñáß åÚ ðòÝæ ÙðÝïæï  ðñØã

 ÜÙÝÚÜ ÝèáÜ íÝßäÜ0.8 xmax   ÝèáÜ çÝàÙÙ åáîæØæÜ éÝðìÝ áòáæØÜ-  åáîæØæ ïÝäÙ

 äÛÝÚ áäêÙfcd . 

 çÝàÙä áïäß çÝßàÙ åÛïæ êÙïè áäØðñáÜ çïòÙgc = 2.0    ïÞÝß :åäÝØÝ .
 êäî òÝäêÙ òÝáÙÝïÙ ÛÛæè äØðñáÙ çÝàÙÜ100  áæÛïæ áèñ ñá âãæ ÜØîÝòã .'ææ

ä äáäÚ ïÞÝß çáÙ êîÝææ ÜæØòÜ åÛïæ :ÜæØòÜ ÜáÙÝï ïÞÝß çáÙ 150  'ææ ÝèáÜ0.8 

   Ù äÙÝïæãCEB ÙÝ2 EN ]8] [40[.  ) êîÝææ ÜæØòÜ åÛïæ ëéÝèÙ ñá1.12-1.16 äñ (
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1.14  äñ êäî òÝäêÙ òÝáÙÝïÜ çáÙ100  äñ ÜðìñØÝ) 'ææ7  åÝïæÙ åáæá28 åáæá  ðÝÙê 

òáìÝðáØÜ ÜáÙÝïÜú 150 êäîÜ 'ææ( çÝðßØ ðÙÛ .ú  åÛïæÜ íæÝØ äØðñáÙ acc = 0.80 .   

               ) ÜßéÝè áìä òäÝÙéòä òÝÝòñÜä òèæ äêñ âãä åðÝÚ ÜÞ äã4.2  Ù äÛÙÜÜ åê) (

acc = 0.80 òäÝÙéòÜ òØ çÝÙñßÙ ØáÙÜÙ âòß äñ òáäæáéïæÜ òäÝÙéòÜ (

 Ù Ýæã áèÙäæ åáîæØæ äáìÝðìÙÝ) ÜáÜò íÝßäÜ ðÝÞáØÜ äñ òáäæáéïæÜ2EN:( 

100,ck
2

cyl,ck
2

cyl,ck
2

ccmax,cd fbd14.0fbd20.0fbd25.0M === a
 

cd
2100,ck2100,ck2

100,ck
2

fbd32.0
0.214.1

f
bd32.0

14.1

f
bd16.0fbd14.0 ===

 

.çÝàÙÜ òïÝßÙ ÜêáìÝæ ÝòØîÝòñ áìã ØäæÜ ßÝòáìÜ ÝÜÞ 

)4.4(                   
cd

2
max,cd fdb32.0M =

   

              Ýfcd  .çÝàÙÜ òïÝßÙ åáïÞÝßÜ òäÙàÙ åÝñðÜ çãòÜ ïÞÝß ÝèáÜ 
              ÜÞ âðêÜÜÞ Ùäá] áìä âòßÜ òäÝÙéò áÝà8 Üßéè), [4.2 ÜÙáéÜ ØáÜ ÝÞÝ ( äáêä 

íæÝØ ØÝÜñ âãä xmax = 0.4d /  
              âòßÙ ÜîáßäÜ òäÝãá ØÝäæ òØ ßòìä ÜñÝðÛÜ çÝáÞÜ òÝæã Üèòáè Øä ðñØã

 ðÝáîÙ ðØÝòæã ÙîæÜ ÜáÜá çÝàÙÜ4.6 ï  ä  êáÚá ßÝòæÜ çÝáÞÜ äñ ÛÙÝãÜ ÞãðæÙ ðÝÙáêÜ

es = fsk/Es  æ ðòÝá çàï ÜáÜá çÝàÙÙ ðÝÙáêÜ åäÝØï3.5ă ØÜ ÜÙÝÚ ÜáÜá âãä áØ , ðÝÞá

    íÝßäÜx  ?xmax  åÚ çãäÝ åÛÝïÜ ÜðïæÜ áìä êÙïáèñ áìãMcd < Mcd,max / 

 
                                          ðÝáî5/7 

 
 

5/6 ÜìáìãÙ åáãòß äñ #ïáÝÛæ# ÙÝñáß 

 "ïáÝÛæ" ÜèÝãæ çØã ÚîÝæÜ ÙÝñáßÜ çãä ÜìáìãÙ åáãòß äñ ïáÝÛæ ÙÝñáß çáØ  .

 åÝïêÜ äê ééÙòæ "ïáÝÛæ"Ü ÙÝñáßÜsc / ec  ðÝáîÙ ÚîÝæñ áìã çÝàÙÜ äñ4.2  åÝïêÜ .

 âØ òáðæÝè òÝßÝè âðÝîä ßéÝè ØÝÜ áã ðÙã ÞðãÝÜÝ áðæÝè äÛÝæ ÝèáÜ åáééÙòæ ÝáäêÝèáØ 
 áòáæØ áÙáàÝàáàéèÝï ïÝß äê ééÝÙæÜ âòß ÙÝñáß ßéèä Ýèáîð Ýä  .çÝàÙ åÝñä åáØòæ
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ä åáãáðî ÝèááÜ çÝàÙÜ äñ åÝïêÙ ñæòñÜsc /ec  ÜÞã åÝïê åÚ åäÝØ ,åááÝéáèæ ÙÝØñÜ

èÜ ëÝÚ ðñØã) òáðáî ÜîáßäÙ ØäØ ÜìáìãÙ Øä ïìÝæá äáäÚ ÝèáÜ áÝéï  äáäÚÜ ïÞÝßfck,cyl  
 áèì äê åáîæØæÜ éÝðì áÙÚä òïìéæ òÝØÛÝ çáØ åäÝØ ÜìáìãÙ çÝàÙÜ ïÞÝßä ÛØæ ÙÝðï

 ØÝÜ ëéÝè ÙÝðï .(åÝïêÜ äã- ïÞÝß òØ ßáèÞÜä åáãáñææ  òÝßèÜ ÜØð) ÜßáòæÙ çÝàÙÜ
 "ïáÝÛæ"Ü ÙÝñáßÙ ÜÙ ïÝÙÛä åáãáñææÝ òáòááêÙ ÜèáÜ ðñØ ÛÝéá òßèÜ ÛÝê .(ÛÝéá

.çÝáÞÜ òÝàÝæä çÝàÙÜ çáÙ òæäñÝæ òÝïÙÛáÜ åÝáï äñ ÝÞ ØáÜ 
 ãÜ òÝðæä ,ñáÝ åáÚðÝß ðñØã ðïáêÙ "ïáÝÛæ"Ü ÙÝñáßÙ áòÝÜæ çÝðòá ,ä

ß äã òïáÛÙ ðñìØæ ØÝÜÝ ðßØæ ,ÜðÝÜàÜ ÜìáìãÜæ ,ØáÜñ äã åáðÝÙáê òéáðìÙ ,âò

 ðÝáîÙ çÝòèÜ òæÚÝÛã (òáðØáèáä)4.7 ú òáðàèîéïØ ÜîáßäÙ çÝòèÜ âòß ðÝáîÙ .4.7b 

 çÝòè .ÝÙ åáðÝÙáêÜ éÝðì éßá êÝÙïä àäßÜÙ çòáès/e  åØòÜÙ Ùáé äãÙ çÝàÙÜ ðÝÙê

 ðÝáîÙ çÝòèä4.2  ÜÛäìä êÚÝèÜ äãÙ .ï  ßÝã åê Üìáìã ÝØ Üìáìã äñ åáäáÚð åáãðîä

,áðáî  ðÝáîÙ ÚîÝæÜ ðñïÙ ñæòñÜä çòáè4.3   ïðìÙ ÜØðèñ áìã áã åØ)6  ïðìÙÝ7 ,
 ðòÝá çÝãèÝ áÝîð ,ÜæÛØ òÛáêðÙ åáàèæäØ äñ  åáãòß òßàÙØ áãðîä ÛßÝáæÙÝ

 éßáÙ ñæòñÜä ss /es  ðßØä ïäßÜ ÝÙ ÜÛäìÜ ðÝÙê ÜêáèãÜ äÝÙÚ ,ñææ ÜäáÞè ÝèáØ 

 
                                            ðÝáî5/8 

                                                  

 ðæÝäãï   òáêÝîïæÜ ÜÚÜÙ ÜèÝãæÜ ïÞÝßÙ òæáÝéæ Üáäê åê ØäØ ,áïìÝØstrain 

hardening branch   ðÝáî ÜØð1.14  . ( 

   ðÝáîÙ ðØÝòæÜ ÚÝéÜæ âòß åÚ Ùñßä çòáè ÜÛáæÜ ÜòÝØÙ4.7c  íÝßä ðñØ ïð

ÜÛäìÜÝ çÝàÙÜ ðÝÙê ðÝÙáê/íæØæ áéßá åòÝØÙ ñÝæáñÜ .ÝïäßÙ. òáääã  áã ñáÚÛÜä ñá

  ßÝòæÜ ðÝÞáØÙ ÜÛäìÙ áÙðáæÜ ðÝÙáêÜ áÙÚä ÜäÙÚÜ çáØï   òÝáÜä Ùááß ÝèáØ ØÝÜfsk/Es .  
 âðêã åáèñ áèìäæ òáèæðÚÜ òÝðìéÙ .òáòÝêæñæ ÜðÝîÙ ÜÞæ äÝÛÚ òÝáÜä äÝãá ØäØ

 çòáè åñ áäæáéïæ5ă ãéÝæ âØ  ãä êáÚÜä ðñìØÝ áèðæñ âðê ÜÞ áã åÝáÜ å10ă .

áÜä çòáè ,òØÞ åê ÛßáÝ çÝáÞÜ áÞÝßØ ÝÙ âòß äïñæ áÝÝñÙ ÛáæêÜä òèæ äê áã òÝäïÙ ßãÝ
 ëØ êáÚÜä âðÝî ÜáÜá  ,éðÜ äñ áäÝÙÚ ÙîæÙ ,"ïáÝÛæ" ÙÝñáßÙ ,åááäæáèáæä åáÙÝðï

 ä ÙÝðïÜ ðÝÙáêä20ă . 

 ÝÙéòÜ òïáÛÙÝ çãòä ÙñßæÜ òÝèãÝò äã àêæã  çáÝÞæ çÝàÙæ åáãòß äñ òä
òæÙ ÙÝñáßÜ òØ òÝãðÝê ØÝÜÝ ä"èã "ïáÝÛæ"Ü ÙÝñáßÜ òèÝã íäæÝæ (Ùááßæ Øä âØ) äê
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] áäØðñáÙ ääÝã) åáèïòÜ òáÙðæ áÛá1 äã ÝØ âÝðØ çæÞä òÝêìñÜ ääÝã ÝèáØ ÜÞ ÙÝñáß .([
 äê çáÝÞæ çÝàÙæ âòßÙ åáàèæÝæÝ òÝßÝã äñ äïñæ áÝÝñÙ ÜÛæêÜ òäÝÞ ,òðßØ ÜêìñÜ

Ü éáéÙ åááÙáàÝàáàéèÝïÜ åáéßá íæØæ)ú  (ðÝÙáê.äáêä Ýèæèñ áìã 
  åáðáÛÚæÜ åáðÝÙáê áæÝßò äñ òáèÝðïê Üæáãé òÚîÝæ åáèïòÙÝ òÝðìéÙ

 ðÝáîÙ ÜèÝòè ÝÞ Üæáãé  .âòßÜ äñ ÜßðàÜ áæÝßò ÜðÝØãä4.8  áÙîæ òðØòæ ØáÜ  .
 Üîáßä ðÝÙáêÜ çáæá ÛîÙ .ÝÙ åáðÝÙáêÜ éÝðáìä åØòÜÙ âòßÙ åááàòÝìáÜ ÜßðàÜ ÛîÙÝ

 äØæñï   ÝèáÜ ÜîáßäÙ áÙðáæÜ ðÝÙáêÜ .Üßáòæă3.5-  ïð òáðáî ÜîáßäÙ åäÝØ-2ă  .

 'ïè :òÝØÙÜ òÝÛÝïèÜ òÝðØÝòæ ðÝáîÙA -  'ïè .ÜßáòæÙ ÜÛäìÜ äñ áÙðáæÜ ðÝÙáêÜB-                         

 òØ ðÙßæÜ ÝïÜ .ÜîáßäÙ çÝàÙÜ äñ áÙðáæÜ ðÝÙáêÜA  ÝB   âòßÜ äÝîáè òØ ðØòæ

äæáàìÝØÜÜäØæñ åáðÝÙáê Ýï   .ÝæÝßòÙ ÛßØ äã ,åáäîÝèæ ÜÛäìÜÝ çÝàÙÜ :Üìáìãä á 

  
                                                    ðÝáî5/9 

 
 ) ÜÞ Ýïæ1  ÝØ2  âòß ÝØ ,ÜîáßäÙ äîÝèæ Øä çÝàÙÜ ÝÙ âòß äñ Ùîæ ðØòæ (ÜæÚÝÛä

Üèàï òÝáðàèîéïØÙ ÜßáòæÙ  òáðáî Üßáòæä ÛêÝ òáðàèîéïØ ÜßáòæÙ âòß ÝØ 

 ÝïÜ )A - A'  Ýïæ Üèáæá åáðÝÙáê Ýï äã . (AB )3  ÝØ ÜðÝÜà Üìáìã ðØòæ (ÜæÚÝÛä

 äñ ðÝÙáêÜ Ûê ,òáðàèîéïØ Üîáßä ÝØ Üßáòæ äñ åáÙÝäáñ2ă-  çááÛê åáðæÝßÜ áèñ)

 ÝïÜ .(åáäîÝèæ D - D  ÝïÜ  .òáðáî ÜîáßäÙ âòß äæéæ4 ÝðßØÜ ÝïÜ ÝèáÜ âòßÜ) ç

 òÝáÜä äÝãá çááÛê áÙðáæÜ íÝßäÜ ðÝÙáêÜ Ýáìä (ÝäÝã íÝßä-3.5 ă  ðÙêæÙ ,Ýä ðÙêæ .
 Ýï ) òáðáî Üîáßää ÛêÝ ÜîáßäÙ ðòÝá Üèàï òÝáðàèîéïØä5 áÙðáæÜ íÝßäÜ ðÝÙáêÜ (

  äØ ÚÝéè-2ă . 

  òÝääãÜã çòÝØ òÝØðä âáðîÝ òÝääãÝæ ÝäØ òÝðÛÚÜðòÝá ØäÝ çÜÝ ðßØæ ,

òßÜ áÚÝé äã òÝìáïæ ,âòßÜ ÜÙÝÚ áèì äê ÜéæÜ òïÝäßÝ ÜðÝî çáÙ ÜèßÙØ Øää åáã

 âãæ êÝðÚÝï áòÜ çØã çáØá çÝáÞÜ òÝáÝæã çáÙ  áòÝêæñæ äÛÙÜ .çÝáÞÜ òÝáÝæãä òÝéß
 åáðÝÙáê òèÝæò ÜòÝØ áì äê ÜÜÞ ÜßðàÜ Ùîæä ÜðÝØãä åáèÝòè ðñØ ,åáãòß áèñÙ

àÜ åáãòßÜ áèñæ ÛßØ äãä éßááæÜ áæáèì äïñæ áÝÝñä äáÙÝÜä äÝãá .áÛæä òÝèÝñ òÝßð
 âÝò òÝðáÜÞÙ éßááòÜä ñá ÝÞ ÜÙáéæä òÝéßááòÜ ðÝáî4.8. 
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5/7   á#ò áìä ÜìáìãÙ åáãòß äñ ÙðÝïæ ÙÝñáß577 ̂2\ 
 

5/7/2  áääã 
  ëáêéÙ ÝàðÝìñ áìã ÛÝéáÜ òÝßèÜ äê ééÙòæ ÙÝñáßÜ4.3  åáäÝïáñÜ äêÝ

 ëáêéÙ ÝàðÝì ðñØ åáèÝñÜ4.4 Ýïæ ÙÝñáß  .ÜìáìãÙ âòßÜ òäÝÙéòÙ çÛÜ áã ßáèá Ùð
 áèÙäæ åáîæØæ éÝðìÙ çÝàÙÜ äñ áðØáèáä ØäÜ åáîæØæÜ éÝðì òØ ðáæÜä ðòÝæ

  ÝèáÜÝ êÝÙï íæØæÜ ðÝêáñ ÝÙ (åáîæØæ ïÝäÙ)fcd  êìñÝò íÝßäÜ ðÝÞáØÙ ßÝãÜ òÝæãÝ
 åÝßòÙ ÛØæ ÙÝà ÙÝðï ØáÜñ ÜßèÜ) íÝßäÜ ðÝÞáØÜ ÜÙÝÚæ ØäØ ÝÙ íæØæÜ ðÝêáñæ Øä

ÝØáîæÜ çæ ïÝßðÝ òÝÜÝÙÚÜ òÝßðàÜÜ çäÜä ðÙéÝáñ áìã ,òÝãÝæèÜ òÝßðàÜÜ åÝßòÙ ò
 ëáêéÙ4.8 .(  ðÝÙáêä íæØæ çáÙ ðñïÜ çÛÙÝØ åêú .òáàéäìÜ ÜðÝòä Ýèéèãè 
  ëáêéÙ ÝèáØð ðñØ ÙÝðïÜ4.4  òðæÜ) òáÙðáæÜ òäÝÙéòÜ áÙÚä åñ ÜñêèÜ ,

 äñ áÙðáæÜ íÝßäÜ ÜÙÝÚÜd  1/7475    ,ÛáðÛæ òäÝÙðìä åØòÜÙ åáîæØæÜ éÝðì ðñØã

  ÜÙÝÚÙ0.5d  ÝèáØ ðñØ ØÝÜñ äã  ÜßðàÜ Ùîæ áÙÚä ÙßðÝá ,(áèÙäæ éÝðìÜ ðñØã

.âòßÜ äñ áäæáéïæÜ äÝîáèÜ 
 ïÜ ëïÝò òÙßðÜá äÙÝïæ ÝèáØ ðñØ ÚñÝæÙ ñÝæáñ òÝêîæØÙ òáñêè ÙÝð

 ã äØðñáÙ ñÝæáñÙ áÝîæÝ ( ÜìÝðáØ ßðÞæÙ ÝðÝïæÝ) åäÝêÙ åáðßØ åáèïòÙ40  Üèñ
 ÝÙ ñÝæáñÜÝè âñæïð ì éßáã ßãÝÜ ØÝÜñ áèìæ äÛÝæÜ òØ ÙÝà ÙÝðïÙ ØàÙæÝ ßÝè ,àÝñ

 ÜìáìãÙ ØäÝ ÜäáÚð ÜìáìãÙ åáïéÝê áã ÜßèÜÙ òÝïÙÛÜ âñæÜ âÝò  .ÙðÝïæ ÙÝñáßä

 ðÝáî ÜØð) òØ ðáÛÚè ,áðàèîéïØ ßÝã åê Ûßá Üìáìã ØäÝ ÜðÝÜà Üìáìã çãÝ ,òêìÝñæ
4.9 : ( 

 
                                                               ðÝáî5/: 

 

Ac ï  äáêìÜ âòßÜï   ÙáéÜ çáÙä ßÝòæÜ çÝáÞÜ äñ ÛÙÝãÜ Þãðæ ðáî çáÙ âòßÜ äã 

         ðòÝáÙ íÝßäÜ ú äáêìÜ âòßÜ. 

S0  -           .ßÝòæÜ çÝáÞÜ äñ ÛÙÝãÜ Þãðæ ðáîä éßáÙ äáêìÜ âòßÜ äñ áààéÜ àèæÝæÜ 

           ÜáÜá  ÜÞ áèÙäæ âòßÙ)S0 = ½ bd
2 .( 

Acô ï  âòßÙ íÝßäÜ ðÝÞáØÜï                   åáîæØæÜ  éìØ ðáî çáÙ ðÝÞáØÜ äã "ïáÝÛæ" ÙÝñáßÙ 

           äÝìã ä"èÜ ÜÙÝÚÙ ðÝÞáØÜ ÙðÝïæ ÙÝñáßÙÝ ,ðòÝáÙ íÝßäÜ ÙáéÜ çáÙä0.8     ÝØ , 
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           éÝðì Ýáäê ðÝÞáØÜfcd . 

Sc ï   áÙé íÝßäÜ ðÝÞáØÜ äñ áààéÜ àèæÝæÜ .ßÝòæÜ çÝáÞÜ äñ ÛÙÝãÜ Þãðæ ðáî Ù 

            ÜáÜá ÜÞ áèÙäæ âòßÙ)Sc = b x (d ï 0.5x)  ¢ 0.32 bd
2
  . ( 
:ã ðÛÚÝæ åÜáèñ çáÙ éßáÜ 

)4.5                                           (Sc ¢ 0.64 S0 

  áèÙäæ âòßÙ áã ßáàÙæ ÜÞ éßáx ¢  xmax = 0.4d  ëáêéÙ ðÙéÝÜñ áìã4.4 Ù . âòß äã

  ðßØxmax  :áã çÝÙñßÙ ØáÙÜÙ âòßÜ òðÝî âÝòæ ðÞÚáá 

)4.6                                        (Sc,max = 0.64 S0 
  òáèÝîáï ÜæÚÝÛ) íÝßäÜ ðÝÞáØÜ çÝÝáãä ÙßÝð åáÛÙØæ ðñØ åáãòß ñáÝ ðßØæú 

 ÝéáéÙ ðñØ ñäÝñæ òðÝî äêÙ âòßÙßÝòæÜ Ûî íÝßäÜ ÛîÙ ñäÝñæÜ ÛÝßÝ åÝáï (

òÜ) áØè4.6 íÝßä ÜÙÝÚä ØáÙÜä äÝãá (åÞÚÝæ äáÙÚÜä ñá .Üðïæ äãÙ  òØxmax  ðÝÙê

  äê Üäêá Øäñ âã ÙðÝïæ ÙÝñáßÙ áèÙäæ åáîæØæ éÝðáì 0.5d / 
 

5/7/3  íÝßäÜ ðÝÞáØÙ çÝáÞ ØääÝ åê áääã âòß çãò 

  ðÝáîÙ4.9a  Ùîáè àèæÝæÜ ðÝàïÝ) áãèØ Üáðàæáé ðáî äêÙÝ ÜìáìãÙ âòß çÝòè

ÜáðàæáéÜ ðáîä  Üìáìã àèæÝæ äêÝì âòßÜ äê .(Md  âòßÜ äñ ääÝãÜ ÜÙÝÚÜ .h  .

  ïßðæÙ ,ßÝòæÜ ðÝÞáØÙds  ßÝòæÜ çÝáÞÜ åïÝæá ðòÝáÙ ßÝòæÜ ÙáéÜæAs  ðÝÞáØÙ  .

 ïßðæÙ ,íÝßäÜds'  ,ðòÝáÙ íÝßäÜ ÙáéÜæåïÝæá  çÝáÞAs'  .òØÞ Ùááßá ÙÝñáßÜ åØ

 âòßÜ äñ äáêìÜ ÜÙÝÚÜd òÝáÙ íÝßäÜ ÙáéÜ çáÙ ïßðæã ðÛÚÝá çÝáÞÜ äñ ÛÙÝãÜ ÞãðæÝ ð

 ßÝòæÜAs . 

  àèæÝæÜ äÝêìÙMd  íÝßä ðÝÞáØ ßÝòæÜ çÝáÞÜ äñ áÛÚèÜ ÛîÙ ðîÝÝáá âòßÜ äê

 ßàñ äêÙAc'   íÝßäÜ ðÝÞáØÜ ÜÙÝÚ .x  ßàñÜ Üæ åáêÛÝá ÝèèáØ .Ac'  (ÜßèÜ) êÝÛá åäÝØ

 òáðàæáé ïäÝßæ ØÝÜ åÚ áã òæÝêä   ÝÜÙÝÚ   .ÙîáèÜ ÜáðàæáéÜ ðáîx   ßàñÜ  äñAc' 
- .âòßÜ òðÝîÙ áÝäò 

  íÝßäÜ ßàñÜ äê ÜÛáßØ ÜðÝîÙ éÝðìÜ íæØæÜAc'   çÝàÙÜ äñ çãòÜ ïÞÝß ÝèáÜ

fcd  : ÝèáÜ âòßÜ äñ íÝßäÜ ðÝÞáØÙ ääÝãÜ çãòÜ ßÝã .C = Ac' f cd  ßÝã òäÝêì åÝïæ .

  ßàñÜ äñ ÛÙÝãÜ Þãðæ ÝèáÜ ÜÞAc'  ÜáðàæáéÜ ðáî äê ØÝÜ ëØ ØîæèÜï   ïßðæÙz 

äñ ÛÙÝãÜ Þãðæ ðáîæ  ßÝòæÜ çÝáÞÜAs . 
 

 Üîáßää çÝáÞ Øää áääã âòß'sA 

   ÜìáìãÙ çãò àèæÝæ äêÝì áääã âòß äêMd   ðÝáî)4.9 íÝßäÜ ðÝÞáØÜ ßàñ  . (

  ÝèáÜ âòßÙAc'   ÝèáÜ ßÝòæÜ çÝáÞÜ ðáîæ Ýäñ ÛÙÝãÜ Þãðæ ïßðæÝz  áààéÜ àèæÝæÜ .

 ÝèáÜ íÝßäÜ ðÝÞáØÜ äñSc : 
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)4.7                              (               
z'AS cc=

 

 ÜáÜá áæáèìÜ çãòÜ àèæÝæMcd : 

)4.8                               (Mcd = Ac' f cd z = C z 

: áØèòÜ åááï ÛÝê äã 

)4.9   (Md ¢ Mcd,max = Sc,max fcd = 0.64 S0 fcd        

 âòßÜ äñ íÝßäÜ ðÝÞáØÙ çÝáÞ ñÝðÛ Øäï Asô . 

 ã âòßÜÝ ðßØæ ÜÞ ÙäñÙ ðñìØ çãäÝ íÝßäÜ ðÝÞáØÜ òðÝî ÜêÙïè Øä ,áää

ÚÜ êÙïáÜÙ áã ïð êÝÙïäá òðÝî êÙïáò âòßÜ äñ ÜáðàæÝØSc :ÜßéÝèÜ âÝòæ ,ÞØÝ 

)4.10                                (Md = Mcd = Sc fcd  

 òØ íäßä çòáè ÜáÜáz   âÝòæ)Sc ) âÝòæ ÙñÝßáñ4.10  ßÝòæÜ çÝáÞÜ ÙñÝßá ÝòØÝ ( (As : 

)4.11                                         (

sd

d
s

fz

M
A =
 

:âòßÙ òÝßÝã äñ äïñæÜ áÝÝñ åáÝïá òØÞÙ 

)4.12                            (C = Ac' f cd = T = As fsd 
:åáàèæÝæ äñ äïñæ áÝÝñÝ 

)4.13áæáèìÜ                           (Mcd    >Md áèÝîáß 

á  :ÜðêÜ) ÜßéÝèÙ ÜñáðÛä ëéÝèÙ áã ðáãÞÜä ÙÝñ ñ4.6  Üðïæ äÝãÙ  (  xmax ¢ 0.5d 
) åÚ åááÝïá âãÝ4.9) Ý (4.10 .( ÜÙÝñß ÝÞ ÜðêÜ âØ òæîæÝîæ åáãòß òîÝÙï áÙÚä
òæááï òáàðÝØáò. 

 

  íÝßäÜ ðÝÞáØÙ çÝáÞ åê áääã âòß'sA 

  íÝßä çÝáÞAs' ÝáÜä äÝãáò ÙÙ âòß:òÝÙáéèÜ  áòñæ òßØ 

        .ØMd > Mcd,max 

   âòßÙ åááï       .ÙAs'   áã ëØ ØÝÜñ äãMd ¢ Mcd,max . 

 

 
                                                           ðÝáî5/21 
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 (Ø òÝðñìØ 

  çÝòè ðñØãMd   ðÛÚÝÜÝ áääã âòß äê äêÝìÜ áèÝîáßSc,max ÚÜ áìäá ÜáðàæÝØ

 âòßÜ äñ  áã ÜßáãÝæ ÜïáÛÙÝ ,çÝòèÜMd  > Mcd,max   àèæÝæ ñðìÜ ðîÝèDMd : 

)4.14                            (DMd = Md ï Mcd,max 

  ÜÞ àèæÝæ ñðìÜ- DMd ðÝáî ÜØð) òÝßÝã ÚÝÞ òÝêîæØÙ äÙïä çòáè ,4.10 (
:ÜèÝãá Üßáòæä çÝáÞÝ çÝàÙ çáÙ òÝßÝãÜ ÚÝÞ åØ .ëéÝè 

)4.15                    (     T1 = As1 fsd = C = Ac' f sd 

: ÜáÜá ëéÝèÜ òÝßÝãÜ ÚÝÞ 

)4.16                               (T2 = As2 fsd = As' f sd' 
  ÜßéÝèÙ çã äê ,ÜÜÞ ÜáÜá ßÝòæÜ ðÝÞáØÜÝ íÝßäÜ ðÝÞáØÙ çÝáÞÜ ÚÝé ääã âðÛÙ

)4.16 ÜáÜá  (fsd = fsd '  ÜèÝñ ØÝÜñ ÜðïæÙ åäÝØ ,ï çÝÙñßÙ òØÞ ØáÙÜä ñá ßáèè çØã .
:âáñæè ÜæáêÝ ñÛßæ ÜßéÝèÜ òØ åÝñðèÝ ÜÜÞ çÝáÞÜ ÚÝé áã 

)4.17                          (T2 = As2 fsd = As' f sd 

 As'  ïßðæÙ íÝßäÜ ðÝÞáØÙ ÙîÝáds'  áäæáéïæÜ ïßðæÜ ,ðòÝáÙ íÝßäÜ ÙáéÜæ

 æ áðñìØÜAs  äê .ðòÝáÙ ÜäÝÛÚ òáæáèì êÝðÞ ðñìØä òèæ äê ,ds' Ü çÙÝæã òÝäß òÝäÙÚ

 áÝéã äñ çÝàÙ.ïÝñáßÜ ðàÝïÙ åÚ áÝäòÜ òÝØè 

  ÝèáÜ òÝßÝãÜ ÚÝÞ äñ áèñÜ ÛîÜT2 = As2 fsd  áääãÜ ÜßáòæÜ ßÝãæ ïäß ØÝÜÝ-  

T = T1 + T2  ßÝã ñÝðÛñ ØäØ êÛÝá ÝèáØ ßÝòæÜ ðÝÞáØÙ âòßÜ.T . 

  çáÙ äÛÙÜÜT1  ÝT2   ßÝãñ âãÙ ØÝÜT1 ä ÙñÝß áì êÝðÞz  ÝäáØÝT2   áìä ÙñÝß

èì êÝðÞ òáæáï (d ï ds') : 

)4.18                           (Md = As2 fsd (d ï ds') D 
 :ÜßéÝèÜ áÛá äê êÙïáá Üßáòæä ñÝðÛÜ çÝáÞÜ ã"Üé 

)4.19                    (

sds

d

sdmin

max,cd

s
f)'dd(

M

fz

M
A

-
+=

D 

 

 zmin  ) ÜßéÝèÙ4.19Ú ðñØã êÝÛá ÜáÜá (á ä ëÝìãÙ ÜêÝÛá ÜáÜò âòßÜ òáðàæÝØ

Sc,max ðÝÙê)  äñ ðßØ âðê äãSc  ÜáÜáz   æ äÝÛÚzmin .( 
 

 (Ù òÝðñìØ 
  åÝáï :çÝÚã ,òÝèÝñ òÝÙáéæ ,âòßÜ äñ íÝßäÜ ðÝÞáØÙ çÝáÞ åááï òÝÙÝðï åáòêä

 çÝáÞÜ .'ÝãÝ åááïìÝØ òÝßÝã Ùïê åáàèæÝæ áìÝäáß òÝðñìØ ,ÜðÝï äñ çÝáÞ äñ Ûäñ

 òÝæãÙ åááïÜAs'   ïßðæÙ áÝîæds'  ïßðæÙÝ ,ðòÝáÙ íÝßäÜ ÙáéÜæd-ds'  ðÝáî ÜØð)

4.10 ßÝòæÜ çÝáÞÜ äñ ÛÙÝãÜ Þãðææ (As . 
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 åáèèãòæ åØ  ÝÙÝ âòßAs'   ÜèÝãá çØã çáèêÜ âðÝîä ðñØ ,äáêä ðÝæØãAs'act 
)çÝòè( : ÜáÜò äÙïæ ÜÞ çÝáÞñ àèæÝæÜ òÝæã , 
)4.20                        (

)'dd(f'AM ssdactsact,d -=D
 

   òØDMd ,act ) ÜßéÝè âÝòæ4.20Üä ñá ( çãòÜ àèæÝææ òáßìMd   äÙïòá âãÝ

  àèæÝæÜ ïäßMcd,act çÝàÙ  òÝßÝã ÚÝÞ òÝêîæØÙ äÙïòæ ðñØ-:ÜÛäì 

)4.21                     (Md,act Mcd,act   =  Md ï D 

  òØ Ùñßä çòáè ÜêÝÛá ÜáÜò âòßÜ òáðàæÝØÚ ðñØã ,çØãæ z    âÝòæMcd,act  ,

ðñØã z    Ù áÝäòw   áÛá äê ðÛÚÝá ðñØSc : 

)4.22                       (Mcd,act  =  Sc fcd 

    ñ ÛáìïÜä ñá Üðïæ äãÙz  ¢  0.95d    ÝØz  ¢ (d-ds') -  êÝðÞÜ ðæÝäã
 ïßðæÜæ äÛÚò Øä òáæáèìÜ äáäêÙ.ßÝòæÜ çÝáÞÜ ÛêÝ íÝßäÜ çÝáÞÜ äñ ÛÙÝãÜ Þãðæ çáÙ 

  ã"Üé:ÜßéÝèÜ áÛá äê êÙïáá Üßáòæä ñÝðÛÜ çÝáÞÜ 

)4.23            (          

sdact

act,cd

ss
fz

M
'AA +=

 

 

 åáïÛÝÙ åØ   òÝáÝæãÜ òÝèÝòèñ ðÙÛÜ ñÝðì ,çÝòè âòßAs' ï  ðÝÞáØÙ çÝáÞÜ

  åÚÝ ,íÝßäÜAs ï ÚÜ âòßÜ áàðì äã çÙÝæãÝ ßÝòæÜ ðÝÞáØÙ çÝáÞÜá ÜäØñÜ .åááðàæÝØ

áòÜä ñá ÜáäØá  çãòÜ àèæÝæ ÝÜæ ØáÜ éßMd  .äÙïä äÝãá ÜÞ âòß ðñØ 
 

 ÜáêÙä òñÚä çòáè :òÝßÝã äñ äïñæ áÝÝñ âÝòæ 

)4.24                     (C +  As'act fsd  =  As,act fsd 
 :ðæÝäã ,äÙïæ çÝàÙÜ Üæã ððÙä ðòÝè ,òÝêÝÛá çÝáÞÜ òÝáÝæãÝ ðßØæ 

)4.25                   (C  =  Ac' f cd  =  (As ï As') f sd 

  âÝòæAc'    òØ ØÝîæä ñáw    Üä Øðïáè ðñØwact  Ý Üèææ òØ Ùñßèzact  ÝÞ .

  äê Üäêò Øä(d ï ds')     äê ØäÝ0.95d :ØÝìáØ çÝòè äÙïä âÝãá âòßÜñ àèæÝæÜ . 

)4.26                   (Md  =  As' f sd (d ï ds') + Ac' f cd zact 

   ,ÜäÙïòÜ ðñØ êÝðÞÜ åØzact  æ ÜäÝÛÚ ,0.95d  æ ÝØ(d ï ds')   ðÝéØ

 åäÝØ ,ÜÙ ñæòñÜäAc'  ) æ ÙñÝß ðñØ4.25:ÜáÜá àèæÝæÜ çãä ,Ýèã äê ðòÝè ( 

)4.27               ( (Md  =  As' f sd (d ï ds') + Ac' f cd zmax  

  áèñ ßÝãñä çáØ ,ÜèÝðßØÜ ÜßéÝèÙ òæäñÝæ ÜðÝîÙ äïñæ áÝÝñ çáØ áã ëØ
 çÝàÙÙ íÝßäÜ ðÝÞáØÜ äñ áäæáèáæ äÝîáè .Ù  ;ÙðÝïæ ÙÝñáßÙ ðÙÝÛæ çØã .Ø  :åáðÙÛ

Ú Ùîæ òØ åØÝò ÝèáØ Ùîæ åê éðÜ äñ áäÝÙÚ Ùîæä ÜæØòÜÜ òÛáæÝ éðÜ äñ áäÝÙ
 ëáêéÙ ðÜÙÝáñ áìã ,Üñäß ØáÜ òÝðñÜ4.8 .ëïò ÜÞ ÙÝñáß âãä áØ . 
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5/7/4  ÜìáìãÙ áèÙäæ âòß äñ ÙðÝïæ ÙÝñáß 
 ÚÜ áèÙäæ âòßÙá ðñØ åáãðêÜ äãä ñææ òòä ðñìØ çãäÝ ÜêÝÛá ÜáðàæÝØ

 åáìáêéÙ åáðÛÚÝæ áòäÙ ÝðòÝè4.6.1  -  4.6.2 . b   -   Ý âòßÜ ÙßÝð ÜáÜáh ï  ÜÙÝÚÜ

  Ý ääÝãÜd ï  'éæ ðÝáî ÜØð) äáêìÜ ÜÙÝÚÜ4.11 :( 

)4.28                                      (S0  =  0.50 b d
2   

)4.29               (Sc = b x (d - ½ x ) = w ( 1 - ½w) b d
2
 ¢ 0.64 S0 

                                :åÜÙw  =  x/d  ¢  wmax  =  0.40 

Mcd  -  òÝßÝã ÚÝÞ áÛá äê ØñáèÜ áæáèìÜ àèæÝæÜï Ù.ÜÛäìÝ çÝà 

)4.30                                (w ( 1 - ½w) b d
2
 fcd Mcd  =   

w   -   : íÝßäÜ ðÝÞáØÙ âòßÜ äñ Ýïäß ðÝêáñ 

)4.31                                (
2/1

cd

2

cd

fdb

M2
11 ù

ú

ø
é
ê

è
--=w

 

 
 òâòß çã 

  òØ åáßáèæfcd    (çÝàÙÜ ÚÝé)fsd    òÝÛáæÜ ( çÝáÞÜ òÛäì ÚÝé)b   h     åÝïáæÝ

  ßÝòæÜ çÝáÞÜ- ds    íÝßäÜ çÝáÞÜÝ- ds'   áèÝîáßÜ çãòÜ àèæÝæ .(âðÝî ÜáÜá åØ)-  Md . 

)4.32                                   (
2/1

cd
2

d

fdb

M2
11

ù
ù
ú

ø

é
é
ê

è
--=w

 

    åØw  ¢  0.4 d   ðÛ Øä.íÝßä çÝáÞ ñÝ 

)4.33                                         (

( ) sd

d
s

fd5.01

M
A

w-
=

 

  åØw > 0.4 d  :íÝßä çÝáÞ ëáéÝÜä âðÝî ÜáÜá 

)4.34                                           (DMd = Md ï Mcd,max 

 :íÝßäÜ ðÝÞáØÙ çÝáÞÜ 

)4.35                                 (           

( )sds

d
s

f'dd

M
'A

-
=
D                 

 :ÜáÜá ßÝòæÜ ðÝÞáØÙ ñÝðÛÜ çÝáÞÜ 

)4.36                                        (

sd

max,cd

ss
fd8.0

M
'AA +=

 

 

 çÝòè âòß òïáÛÙ 

  òÝÛáæÜ åê âòß çÝòè ðñØã * d,  ds',  ds,  b, h  ) çÝáÞÜ òÝáÝæã ,(As' ,As (

 ) åáðæÝßÜÝfsd , fcd :çæïäÛã êÙïáá Ýäñ òäÝÙéòÜ àèæÝæ ( 
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  áÛá äê ØñáèÜ àèæÝæÜAs'   :ÜáÜá 
)4.37                    (

)'dd(f'AM ssdsd -=D
 

  òØ Ùñßä çòáè òÝßÝã äïñæ áÝÝñ òÝêîæØÙw : 

)4.38                                            (
Tf'AC sds =+

 

                                         
sdssdscd fAf'Afbd =+w

 

   åØw ² wmax : ÜáÜò âòßÜ òäÝÙéò 

)4.39        (
)'dd(f'Afbd32.0MMM ssdscd

2
dmax,cdd -+=+= D

 

   åØw < wmax   :ÜáÜá çãòÜ àèæÝæ 

)4.40                            (
zfbdMM cddd wD +=

  

 ) ÜßéÝèÙ åØ4.40  ( w  ²  2ds'/d     òáæáèìÜ êÝðÞÜ ÜáÜòz = (1 ï 0.5w) d  

  åØ åäÝØw  <  2ds'/d     ÜáÜòz = (d-ds') . 

  âòßÙ çáØ ðñØãAs'    òàæñÜÙ äáêä ðØÝòæã âðêáá ÙÝñßÜ äãAs' . 
 

ÜðêÜ  æ ÜäÝÛÚ Øä Üãáðî ÜÞ ïðìÙ ÜÙñÝßñ çÝáÞÜ òÝáÝæãæ òßØ äã :As,max  rmax)) 

  æ Üèàï ØäÝAs,min  *  rmin )  áìãñ.ðÙÝÛæ åÜÙ åáàèæäØä åØòÜÙ ÝêÙïè 

 
 

5/7 âòßÙ áäæáéïæÝ áäæáèáæ çÝáÞ 
 
  àèæäØ òßàÙØ âðÝîä çèãÝòæ ÝØ ïÛÙáè âòß .ØæäêÙ åáãòß ÙÝñáß çáØ

 .àèæäØÜ áãðîæ åáêÙÝè âòßÜ áãðî âãä áØ ,ÝãðÝØæ ïäßÙ ÝØ òÝæäñÙ ,åáÝéæ
òÝáäæáéïæÜ çÝáÞÜ òÝáÝæã ÜèêÙïáò àèæäØÜ áìÝØä åØòÜÙ .òÝáäæáèáæÜÝ 

  çáÝÞæ çÝàÙæ àèæäØÙ òæáÝéæ ÜÙáÙéÙ áäæáéïæ ÝØ áäæáèáæ çÝáÞä òÝñáðÛÜ
 åáäÝïáñÜ áèñ .éðÜ äñ áäÝÙÚ Ùîæ ÝØ òÝðñ Ùîæ òßàÙØ áäÝïáñæ ØÝÙä òÝäÝãá
 êÙïáò ðÙÛ äñ ÝæÝãáéÙ .ÜñáðÛÜ ÜòÝØä éßáÙ òÝèÝñ  òÝèïéæä äáÙÝÜä åáäÝãá

Ù áã ððÙòá åØ ØäØ ,ðòÝá ÜÜÝÙÚÜ ÜñáðÛÜ ñá ÛßØ áäÝÙÚ Ùîæ åêàæ ÜÜÝÙÚ ÜñáðÛ
 òÝáäæáèáæÜ òÝáÝæãÙ çÛ ÜÞ ëáêé .áèñÜ áäÝÙÚÜ Ùîæ åêàæ åáäÝïáñÜ ðÝØä ïÞè åÝñæ

 òßàÙØ áæêàæ ïð åáÝéæ âòßÙ ÝØ òæáÝéæ ÜÙáÙéÙ Üìáìãä çÝáÞ äñ òÝáäæáéïæÜÝ
 Ùîæ ÜØð) ðßØ åÝïæÙ ÝØÙÝá òÝðñ äñ áäÝÙÚ Ùîæ äñ åáäÝïáñÜ .éðÜ äñ áäÝÙÚ Ùîæ

òÝðñ  ëáêé ÜïáÛé äñ19.7.( 
 

5/8/2 Üìáìãä áäæáèáæ çÝáÞ 
  ðæÝäã .âáðì éðÜ áèìÙ âòß ßáàÙÜä òèæ äê çòáè ,ÜðÛÚÜÜ áìä , áäæáèáæ çÝáÞ

ï  åðÝÚ ÝèáØ ÝÙ àèæÝæÜÝ ðßØæ) ääã ÜìáìãÙ Üßáòæ çÝáÞ Øää çèãòä ðñìØ ðñØ âòß
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á (ÜìáìãÙ ÜßáòæÙ çÝàÙÜ äñ çãòÜ ïÞÝß äê ÜäÝêÜ ÜìáìãÙ çãò íæØæä ßáàÙÜä ñ

 íæØæ ÝòÝØä ÝêáÚÜÙ éðÜ áèìÙ-  ,ÜìáìãÙ ÜßáòæÙ êîÝææ çãò ïÞÝßfctm  Üñêáá ÜÞ .
 åðÝÚÜ àèæÝæÜæ çàï Øäñ àèæÝæ ßáàÙá ðñØ ðÝêáñÙ âòßÙ áäæáèáæ çÝáÞ çòæ áÛá äê

 òÝßòìòÜäfctm åäÝØ .ï  äñ ØäØ òÝðñ äñ áäÝÙÚ Ùîæ òßàÙØÙ ðÙÝÛæ ØäÝ ðßØæ
ß äñ åáßèÝæÙ ÙÝñßä ðòÝæ  ,éðÜìÝØ ïÞÝá.çãò ïÞÝß ØäÝ çÝáÞÜ ðÝÙê áèá 

 :áÛá äê ØàÝÙæ ä"èÜ ßÝéáèÜ áèÙäæ âòß ðÝÙê 

)4.41                          (
dfAfbh

6

1
M skmin,sctm

2

r ==
 

  Ý ðßØæAs,min  = rmin b d    ßáèè åØÝd/h  ~ 0.9   ðÝÙê äÙïèrmin  âÝòæ

)4.41âðêÜ òØ ( ] çÝàÙÜ òïÝß áìä)1( [: 

)4.42   (

sk

ctm2

sk

ctm
min

f

f
20.0)d/h(

6

1

f

f
@=r

      åäÝØÝ 

sk

ctm
min

f

f
26.0=r

] áìä8[ 

  òïÝßÙ åáàðÝìæÜ åáèÝàÙÜÝ åááäØðñáÜ åáèïòÙ òÝáÝîæÜ òÝÛäìÜ ðÝÙê

] çÝàÙÜ1[ ,   ÜäÙàÙ åáèÝòè4.1   áãðêrmin  .åáÙñÝßæ 

   áèÙäæ ÝèáØ âòßÜ ðñØãrmin    âÝòæ Øä êÙïèbh  ØäØ , áèÙäæ âòßÙ Ýæã

 âÝòæbt d ðñØã bt  áÙÚä ÜÙÝñß òØÞ ÜèßÙØ .ÜßáòæÜ ðÝÞáØ äñ êîÝææÜ ÙßÝðÜ ÝèáÜ
 ÝÙ äÝìã íæï âòß Ýæã åáãòß áÙÚä ÝØ ,Üèòñæ çìÝÛÜ áÙÝê ÝÙ íæï âòß Ýæã åáãòß

 ÙßðÝæ òÝáÜä âðàîá ÙßÝðÜ ØäØ ÛÙäÙ çìÝÛÜ ÙßÝð áì äê Øä êÙïáá áäæáèáæÜ çÝáÞÜ
áè çã Ýæã  .ÙßðÝæÜ ßÝòæÜ ïäßÙ âòßÜ òìéÝòä Ùä åáñÙ] Ù êÙï1 âòßÙ ðñØã áã [

 òáäæáèáæÜ çÝáÞÜ òèæ  ,çìÝÛÜ ØäÝ ëÚØÜ Ûî ØÝÜ ßÝòæÜ ÛîÜ ñáð ÝØ íæï òÙñÝßæÜ)

 éáéÙ äêbt d  ( Ù ñáð âòßÙ : äÛÚò50%  Ù íæï âòßÙÝ100%  òØÞä ÜäáÙïæ ÜñáðÛ  .
] áäÚèØÜ çïòÙ ïð ñá6  .òÝæÝÛ òÝáÝæãÙ [ 

             ÜäÙà5/2  .    áäæáèáæÜ çÝáÞÜ òèæ minr çÝáÞÜÝ çÝàÙÜ ÚÝéÙ òÝäòÙ ÜìáìãÙ 

çÝàÙÜ ÚÝé Ù20 Ù25 Ù30 Ù40 Ù50 Ù60 

fctm 1.9 2.2 2.6 3.0 3.5 4.1 

  ÜÛäìf 

 fsk = 230 Mpa 

0.0017 0.0019 0.0023 0.0026 0.0030 0.0036 

 ÜÛäìF 

 fsk = 400 Mpa 

0.0010 0.0011 0.0013 0.0015 0.0018 0.0021 

 ÜÝÙÚ ïÞÝß òÝòñð 

fsk = 500 Mpa 

  0.0010 0.0012 0.0014 0.0016 

 rmin   á"ò áìä466 ]1:âã çÝáÞÜ áÚÝéä åØòÜÙ äÙÚÝæ [ 

              òÝãòÝðæ òÝòñðÙ-   rmin = 0.0012 

   åáÛÛÝÙ åáêäÝîæ òÝàÝæÙ-   rmin = 0.0015 

        åáïäß  òÝàÝæ òÛäìÙ-    rmin = 0.0026    
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5/8/3  òáäæáéïæÜ çÝáÞÜ òèæ 
 èæ ÛæÝêÜ àèæäØÙ  .çèãÝòæÜ àèæäØÙ ÛØæ ÜáÝäò òáäæáéïæÜ çÝáÞÜ ò

 ÜîáßäÙ ÝØ ÜîáßäÙ ÛæÝêÜ àèæäØÙñ ÝÞæ ÜèÝñ ÜáÜò ØáÜ (äñæä ÜðÝï) ÛÙäÙ ÜìáìãÙ
 ÜÞ çáÙä ÜßáòæÜ ðÝÞáØÙ áäæáéïæ çÝáÞ çáÙ çáßÙÜä ñá . (äñæä ÛÝæê) Üìáìã åê

.ÜîáßäÜ ðÝÞáØÙ 
 ] åáèïòÜ òáÙðæÙ4] [8] [6] [7] [5Ùïè [ ÜßáòæÙ òáäæáéïæ çÝáÞ òèæã Üê

 ÜìáìãÙ0.04  =rmax  çÝàÙÜ äÝîáèä åÝïæ ðáòÝÜä çÝîðÜ äê òééÝÙæ ÝÞ ÜñáðÛ  .

 ÜÛäì òÝßÝã ÚÝÞä âòßÜ òãáìÜ êÝèæäÝ ÜìáìãÙ íÝßäÜ ðÝÞáØÙï  Ûáïìò åê ÜÛäì

  .ÛÙäÙ áÝéáãã çÝàÙÜrmax = 0.04    á"ò áÛá äê åÚ íæÝØ466 ]1. [ 

  êÝÛáã åáîÝßä åáàèæäØ ØáÙÜä ÜÙÝßÝ ÛÙäÙ áðáî ßÝãä åáèèãÝòæ åèáØ
êÙ òæááï íÝßä àèæäØÙ åÚñ âã ,òæáÝéæ òÝáðàèîéïØ çÝÙñßÙá òèæ .ÜìáìãÜ òá

 òáÙðáæÜ çÝáÞÜòääÝãÜ ] çÝÚã ,åáèïòÜ òáÙðæÙ åáîÝßä åáàèæäØÙ4] [5] [6] [7] [40 , [

  ØáÜ0.08 - êÝÛá ðñØãÝ áÛæ äÝÛÚ ØäÝ ÙãðÝæ Øä àèæäØÜ âòß ðñØã .òääÝã  çìÝØÙ
 äñ ÜèÝãèÜ ÜïÝäßÜ áã ÛØæ ðáÙé ,åááïìÝØ òÝßÝã Ùïê åáàèæÝæ áìÝäáß ñá áã ðÝðÙ

ØáÜ ÝÞÜ òÝæãÜ Ûê 0.04  çæáé ÜìáäßæÜ ÜßðàÜä Üèêæ ÜáÜáñ âã ,âòßÜ äñ Ûî äãÙ
 âòßÙ òáäæáéïæ çÝáÞ òèæ äê ÜîäæÜ ßÝðÙ åÚ ØáÜ ÝÞ ÜêáÙï .åááïìÝØ òÝßÝã Ùïê

 Üìáìã Ùïê ÜßáòæÙï 0.04 . 

 ðñØã  êáïñÜä âðÝî ñá ÛßÝáæÙ òÝäÝÛÚ òÝÛáæ äêÙ ÝØ ðòÝá ÙãðÝæ âòßÜ
 òÝáÛáòêÜ òÝáìßÜ òØ çÝÙñßÙ ØáÙÜÙ åÚ ,âòßÙ çÝáÞÜ òéáðìä êÚÝèÙ òÛßÝáæ ÜÙñßæ

  .âòßÜ ëïáÜ âðÝØä çÝáÞ òÝáÝæã ðÞìä ñá áã ÜÛÙÝêÜ äñÙ àÝñì åÚÝ áãðÝØÜ çÝáÞÜ äñ
áêÙáðêáÜä ñá áã Ûê åáæêìä ÜðÝæß Üã ØáÜ òÝáìßÜ ò âòßÜ äñ åáßèÝæÙ ïð Øä â

.àèæäØÜ ÜÙÝÚ äã äê ÜÙñßæÙ åÚ åáæêìä ØäØ 
  áñÝïä åÝðÚä äÝãá òÝäÝÛÚ òÝÛáæ äêÙ âòß òÝèìÛ âðÝØä çÝáÞÜæ ïäß ðÝÞáì

 ØäÜ ÙÝñáßÜ ÜäØã åáðïæÙ  .çÝòèÜ éæÝêÜ òßò çÝáÞÜ äñ ÝòäÝêì Üæ ÜèßÙØÙ
áÙ òÝáäáÙáàìæÝï åÚ ØäØ äïñæ áÝÝñ ïð Øä åáæááïæ ÝÙ áðØáèáä ,åáîæØæÝ åáðÝÙáê ç

 ÙÝñáßÜ ) òèæ äê çÝãèÜ áÛáßáÜ çÝðòìÜ ÜáÜá ("ïáÝÛæ"Ü ÙÝñáßÜ ÜÞ ïðìÙ ÜèÝãñ
.âòßÜ òäÝÙéò òØ ÛÝæØä 

 

5/8/4 íÝßäÜ ðÝÞáØÙ Üìáìãä òáäæáéïæ çÝáÞ òèæ 
  òÝêîæØÙ íÝßäÜ ðÝÞáØÜ òØ ïÞßä âðÝî åáòêä ñá ,ÜìáìãÙ çÝòèÜ àèæäØÙ

  Üîáßää çÝáÞAs' äÙÚÝæ ÝÞ òÝæã  . âáñæÜä íÝßäÜ ïäßÙ çÝàÙä ðñìØä òèæ äê ò
 òäÙÚÜä åÚ ÜÙáéÜ ÝÞÝ ßÝòæÜ ðÝÞáØÙ çÝáÞÜ òäÙÚÜä ÜÙáéÜ ÝÞ  . Üîáßä ßÝãã ÛïìòäÝ

.íÝßäÜ ðÝÞáØÙ çÝáÞÜ 
  á"òÙ466 ]1:ÜäÙÚÜÜ ÜêÙïè  [ 

                                        

sd

max
f

350
015.0' ¢r
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 Ùæ åááÝñê åáãòßáäêÙ åáèÝàÙ Ù) âÝæè ïÞÝß20 Ù Ý25  çááÛê ÝÞ ÜäÙÚÜ ÜäÝãá (
 á"òÙ êÙïè âãä áØ ,ðòÝáÙ ÜÜÝÙÚ àèæÝæ òìéÝòä åÝðÚä466 ]1 ÜäØ åáèÝàÙ ðÝÙê áã [

   :òìéÝè ÜäÙÚÜ äÝßòDMd  ¢  Mcd,max . 

 
;ÜðêÜ  ääÝã ÝèáØ Üîáßää ÝØ Üßáòæä åØ çáÙ ,òáäæáéïæ çÝáÞ òèæä éßáÙ ðæØèÜ äã
 òØ áðÝÞáØðñØã .òÝáìßÜ áìß åáêîÙæ ÝÙ ðÝÞáØÙ åáèÛááòÜä ñá Üá òèæä ïð Øä éß

 çáÙ åáñÝðÛÜ åáïßðæÜ äê Üðáæñ ,âòßÙ çÝáÞÜ òÝìáìîä åÚ ØäØ òáäæáéïæÜ çÝáÞÜ
 áÝéãÜ äê ÜÛìïÜäÝ òÝàÝæÜ çÝàÙÜ.ñÝðÛÜ 

 

5/9   òáÙðáæÜ òáæáèìÜ êÝðÞÜ 
 

  áã Øîæáè òáÙÝñáßÝ (âòß  òäÝÙéò òïáÛÙ ÝØ) âòß ÙÝñáß âðêè ðñØãɤ 

àï ðæÝäã ,ÛØæ Üèx ï  ØáÜ ÜèïéæÜ ,ÙðÝïæ ÙÝñáßÙ ,ÛØæ çàï íÝßäÜ ðÝÞáØÜ ÜÙÝÚ

 áãz   òÝáÜä ÜðÝæØ ðñØ ,òáæáèìÜ êÝðÞÜ ,z = d ï x/2  ä òìØÝñÝ ÛØæ ÜäÝÛÚ ÜèáÜd  . 

   òäÙÚÜ òÝÙáé òØ ððÙä òèæ äêz  ¢  zmax   ðÝáîä éßááòÜä ñá4.11  .

 åáìáêéÙ4.4 ï 4.6 ÝñáßÜ äñ ßÝéáèÜ áã ðæØè éÝðì) éðÜ äñ áäÝÙÚ ÙîæÙ ÙðÝïæÜ Ù

 ÝØ ,ÝØÝäæÙ äîÝèæ âòßÜ åÜÙ åáÙîæ ðïáêÙ åØÝò , (åáîæØæ "ïÝäÙ" ÝèáÜ åáîæØæÜ

 ðæÝäã ,âãä ÙÝðïï ɤ  ,äîÝèæ Øä  âòßÜ ðñØã ÜïÝßð ÜæØòÜÜ òØÞ òæÝêä .ÜÜÝÙÚ

 ðæÝäãï ɤ  ðÝáîÙ .ÜãÝæè4.11a  Ûê äîÝèæ íÝßäÜ ðÝÞáØÜ ÝÙÝ áèÙäæ âòß ÜØðáè

åÝæáéïæä - ɤ = ɤmax = 0.4   êÝðÞ .(åáîæØæ "ïÝäÙ") ÙðÝïæÜ ÙÝñáßÜ äÛÝæÙ

  ÜèáÜ åááæáèìÜ òÝßÝãÜ0.8d  éÝðìÙ ñÝæáñÙ ,áðØèáä Øä ÙÝñáßÙ ÙñÝß åØ ,ÜÞ âòß .

 ðÝáî) "ÛáðÛæ òäÝÙðì" áìä åáîæØæÜ4.3  ã ÜòáÜ ÝÙ òáæáèìÜ êÝðÞÜ  (d0.75  ÙðÝïæÙ

 ðÝáî )4.11b ÝáæáèìÜ òÝêÝðÞÜ çáÙ äÛÙÜÜ  .(.äÝÛÚ Øä ò 

 
                                                   ðÝáî5/22               

 

 ) ÛØæ òäÙÚÝæ ÜðÝîÙ äîÝèæ çÝàÙÜ ÝÙ Üìáìãä âòß äÝîáèÙw  (ÛØæ Üèàï
áàéÜá ÙÝñáß òæÝêä ÙðÝïæÜ äÛÝæÜ áìä éðÜ äñ áäÝÙÚ ÙîæÙ åáîæØæÜ éÝðì çáÙ Ü

 Øä  ÜáÜá ÜãÝæè çÝàÙ òßðàÜÙ .ÛØæ ÜäÝÛÚ áðØèáäůc  òäÝÙðì" åÝïêÙ âÝæèÜ ïäßÙ
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 ðÝáî) áðØáèáä áðæÚä àêæãÝ áñäÝñæ ÝÛÝéáÙ ÜáÜá íÝßäÜ ðÝÞáØÜÝ "ÛáðÛæ(4.11c .  

 ã òÝáÜä äÝãá ÙÝà ÙÝðáïÙ íÝßäÜ ðÝÞáØÜ ÜÙÝÚ0.4d  áñäÝñæ éÝðì äñ  ÛÙÝãÜ  ÞãðæÝ

  ïßðæÙ ÙÝðïÙ ÜáÜá  ÜÞ0.13d  ÙáéÜæ  ã ÜáÜò òáæáèìÜ êÝðÞÜ ÝØ ,ðòÝáÙ íÝßäÜ

0.87d    ßáèè , òáæáèì êÝðÞ áìä çèãÝò çÝáÞÜ åØ .0.97d  "ïÝäÙ" ØÝÜ éÝðìÜ ðñØã)

 åáîæØæ-  ðÝáî4.11d  áì ÜáÜá òÝáæáèìÜ òÝêÝðÞÜ çáÙ ðêìÜ ,(0.97/0.87 ~ 1.115 .

ÝèáÜ çÝáÞÜ òÛäìä áïäßÜ çÝßàÙÜ åÛïæñ çÝÙñßÙ ØáÙÜÙ áÛæä ÜÝÙÚ ÜÞ ðêì  1.15 . 

   çÝáÞÜ äÝîáè äñ ØáÜ òìéÝè ÜêìÝòAs'  ÜðïæÙ .ÜìáìãÙ ÜäêÝìä íÝßäÜ ðÝÞáØÙ

  ) ÜÞ ëéÝè Üîáßä ßÝã ðÝÙê òáæáèìÜ êÝðÞÜ ÜÞAs' f sd  ÜèáÜ ((d ï ds')  Þãðæñ áÝîð .

 ïÝñáßä íÝßæ âòßÜ ÜÙÝÚ ïäß .ÜÞ ÜÙÝÚ äê Üäêá Øä çÝàÙÜ äñ íÝßäÜ ßÝãÜ äñ ÛÙÝãÜ
áßÜ áÛá äê çÚÝæ ÝèáØ ÛÙÝãÜ Þãðæñ ,éðÜ äñ áäÝÙÚ Ùîæ ðÝÙê ,áÝîð çãäÝ ÜØáäãä ïÝñ

.ïÝñáßä íÝßæ ÝáÜá Øä íÝßäÜ ðÝÞáØÜ ïäß äñ 

   ä òáæáèìÜ êÝðÞÜ òØ äáÙÚÜä äÙÝïæ(d ï ds')   ä ÝØ0.95d   ÝØ)0.90d   (-  ÜÞ
 ÙàÝæ ,äñæä òÝïÛ òÝäÙà ,åáðáæò åáàèæäØÙ áã ØáÜ ðÙßæÜ òñÚðÜ ,äÝïáñä çáèê

 ä äáÙÚÜä0.90d  Ûê äáÙÚÜä ðñìØ  ÜðÝï çÝÚã ,åáðáæò åèáØñ åáàèæäØÙÝ0.95d  .

 á"òÙ466 ]1  íæÝØ  [0.95d   çáÙæ çàïÜ ÝØ(d-ds')       Ý0.95d   çÝáÞÜ ðñØãAs'  .äáêì 
 
 

5/:   ÜìáìãÙ ñáð ÝØ íæï âòß äñ ÙðÝïæ ÙÝñáß 
 

5/:/2  áääã 
 ðÝØ åáÝÝï áÝñê ÜèÙæÙ ÛØæ åáÙð åáÙîæ ñáòïìÝØ) åááäèÝÚÝ ,(åááãèØÝ åáá

 íæï âòß òÝäêÙ òÝðÝï òÝðîÝè åÜÙ ,ÜäØã åÜ ÝèÙáÙé åááÝîæÜ åáèÙæÜ ÙÝðÝ(T)  ÝØ

 ñáð(ɻ)  çÜ ðòÝáÙ åááÝîæÜ  .Ù ÝØ ÛßØ çÝÝáãÙ òÝèêñè ) òÝäÙà òÝãæÝò òÝðÝï
 ðÝáî)  ÜäÙàÜ åê Ûßá òÝïÝîáÜÝ (òÝÙäÝîæ4.12 .  ( 

 ðñØ åáàèæäØ äñ åáðïæÙ åÚ ðîÝè íæï âòß Ùñßä âðÝîÜ  ,ÛßáÙ ÝïîÝè Øä
 ðñÚ òÝðÝï åê äÙÝïæ áÛ Ùîæ) ÜäÙà ÜïîÝè ÜáäêÝ ÜæÝðà ÜØÙÝÜ ðñØ ÜðÝï çÝÚã

.(Üáäê ÜïÝîáÜ  ÜêéáæÜÝ 

 
                                                             ðÝáî5/23   
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  ñáð âòßÙ(ɻ) ÝÝáò    òáÛáî âæòáè ÝèáØ ðñØ Øä ÜÞ ëáêé  . òêìÝñæ Üìáìã ðî
 áìä ñáð âòß ,âãä áØ ,ÜìáìãÙ òÝðßØ òÝÛßÝáæ òÝáêÙÙ ÝØ  òêìÝñæ ÜìáìãÙ äìàæ
 ÜìáìãÙ äêÝìÜ íæï âòß áîßã  äìÝàá ,ÝÙ åáïéÝê ÜÙ òÙðÝïæÜ ÜàáñÙ , ÜÞ ëáêé

 çãáÜæ ÜäØñä ñðÛáè Øä  .ñáð ÝØ íæï âòß çáÙ âñæÜÙ çáßÙè Øä ÝÞ ÜÙáéæ .ÜàÝñì
ÝÛáæ ÝêÙïè ØäØ (åáàèæäØ äñ åáãòßÙ ØäØ àèæäØÙ åáïéÝê ØäÝ ðßØæ) âòßÜ ò

.çÜñ òÝæã çäÙïè 

 áìØæÜ òÝáðïáêÜ òÝÛáæÜá ðÝáîÙ òÝèæÝéæ) íæï âòß òÝè4.13  : çÜ (bf ï 

 , ëÚØÜ ÙßÝðbw ï   ,çìÝÛÜ ÙßÝðtf ï   ,ëÚØÜ áÙÝêh ï   ,âòßÜ äñ ääÝãÜ ÜÙÝÚÜds  Ýds'  

-  æÜ  çÝáÞÜ äñ ÛÙÝãÜ Þãðæ áïßðæ ßÝò(As)    íÝßäÜÝ(As')  ðòÝáÙ ßÝòæÜ ÙáéÜæ
                                            .ÜæØòÜÙ ,ðòÝáÙ íÝßäÜÝ 

  òðÝîæ åáêÙÝè åÜÝ áèÙäæ âòßÝ íæï âòß ÙÝñáß çáÙ åáæáÝéæ åáäÛÙÜ ñá
Ù ,âòßÜ òÝáÜ çÝðòáÜ ÜÞÙ  .ÛßØÜ ÝÛáîÙ òÞãÝðæ (ëÚØÜ) âòßÜ äñ ðòÝá ÜäÝÛÚ Üéæ

íæï âòß äñ  ÛîÙ íÝßäÜ ðÝÞáØÜ ÝÙ íæï âòß . (íÝßäÜ ÝÛîÙ ëÚØÜ ðñØã ) ØäÝ çìÝÛÜ 

 
                                                        ðÝáî5/24 

 

  ÙñßáÜ äÝãá ,ëÚØÜ ÛîÙÙÝðáïÙ   òÝÛáæ äêÙ áèÙäæ âòßã ÙÝàbw/h . 

  ÙÝñáßÜ òïáèãà òÝßèÜä Ùä åáñÙ ëáêé) áääã âòß áÙÚä ÙðÝïæÜ4.6.1 (

 òáääã ÜñáðÛ ðÝãÞã ØáÜÝ ÜèáêÙ òðòÝè ÜÙÝñß ÜñáðÛï )  ÜßéÝè4.5: ( 

)4.5                                 (Sc,max  ¢ 0.64 S0        

  òØ êÝÙïä ÜáÜá çòáè ,òÝèÝòè âòßÜ òÝÛáæñ âãä Ùä åáñÙS0  òØ çãÝSc  
åááÝäò ÝäØñ çÙÝæÝ .íæïÜ âòß äñ òÝÛáæÜ áéßáÙ 

 Ùîæä åÚ ,âòß òïáÛÙä âòß çãò çáÙ ÜèßÙØä ëéÝèÙ ,çØã çáßÙÜä âðÝî ÜáÜá

 çìÝÛÙÝ ëÚØÙ éÝðì ÝØ ÛÙäÙ ëÚØÙ ÝèáÜ íÝßäÜ ðÝÞáØÜ åØÜ  :ÜîáßäÙ åáîæØæÜ ÚÝäáì

 ðÝáî ÜØð)4.14  ÜáÜ áèÙäæ âòßÙ åØ áã ðÝðÙ Üðïæ äãÙ  .(xmax = 0.4d  ääÚÙñ áðÜ

ßÝáæÜ ÜèÙæÜ íæïÜ âòß äñ Ûï ëÚØÜ ÛîÙ òÞãÝðæ ðòÝá ÜÙð Üéæ,   ðÝÞáØÜ ØÝÜ

  ÜáÜá ,íÝßäÜxmax <  0.4d ) ÜßéÝè áìä ðñïÜ åááïòÜä âáñæá âã ïð áã ,4.5. ( 
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 âòß ÙÝñáßÙ ðÙÝÛæ áã åêì ÛÝê ðÝãÞä ñá ëÝéÙäÙðÝïæ ,íæï âòßÙ åÚ çãäÝ ,
ÝÙÚ ÙîæÙ âòß òïáÛÙÙ ÝØ çãòÙ ,áèÙäæ âòßÙ ÝØ áääã âòßÙ Ýæã éðÜ äñ áäçáØ  äã

 çã åØ ØäØ (çÝàÙÙ åáðÝÙáêä åáîæØæ çáÙ éßá äã åáÝïæ Øä) åáðÝÙáêä ÜïáÞ
 ëáêé ÜØð) ÜØäæ òáðØáèáä Øä ÜÞáäèØ åáæááïæ4.5. ( 

 
5/:/3  íæï âòß çãò ÝØ òïáÛÙ 

  âãä áØ ,ëòÝñæÜ çæ ÜÙðÜ ñá ñÛß íæï âòß çãòÙ ÝØ çÝòè íæï âòß òïáÛÙÙ
 ïÝéêá ÜÞ ëáêéåÜáèñÙ ,ÛßáÙ  äêÙ âòßÙ åáïéÝê âòß òïáÛÙÙ :áã ðÝðÙ ðñØã

Úá ,åÜæ òêæòñæÜ òäÝÙéòÜ òØ åáïÛÝÙÝ ,òÝèÝòè åáðæÝß òÝáÝæãÝ ÜèÝòè ÜáðàæÝØ

 âÝìÜ çÝÝáãÜ âòß çãòÙ ÝäáØÝï Ý âòß òÝÛáæ åáßáèæ åáæáÝéæ çãò áèÝòè ðÝÙêåòØ 
Ù ,ØÝìáØ ,äêÝì âñæÜÙ çÝòèÜ  .ÜæØòÜÜ òÛáæ òïáÛÙ âÝò çÝáÞ òÝáÝæã åáÙñßæ áèñ

.åáèÝÝáãÜ 
 Ú òÝÛáæ äêÙ íæï âòß çÝòèá ðÝáîÙ ðØÝòæã òÝáðàæÝØ4.13  áÝñê âòßÜ .

 çãò ïÞÝß äêÙ çÝàÙæfcd .   Øää âòßÜ òäÝÙéòÜ ÙÝñáß.çäÜä àðÝìæã êÙïáò çÝáÞ 

   ,ßÝòæÜ çÝáÞÜ ðáîä éßáÙ äáêìÜ âòßÜ äñ áààéÜ àèæÝæÜS0  áÛá äê çÝòè ,

 çìÝÛÜ äñ áààéÜ àèæÝæÜ bw  òìéÝòÙ , åáÝÝäáèÜ åáìÚØÜ áïäß äñ áààéÜ àèæÝæÜ

:Ýä 
)4.43                       (2

wffwf0 db5.0)t5.0d(t)bb(S +--=
 

 :ÜáÜò Üîáßää çÝáÞ Øää âòßÜ òäÝÙéò 
)4.44                                        (

cd0max,cd fS64.0M =
 

 ) ÜßéÝèÜ4.44  òØ òèòÝè (Mcd,max Ýè åáàðì ØääÝ ÜðÛÚÜÜ áìä Øää ,åáìé

  ÜñÝðÛÜ çÝáÞÜ òÝæã òØ Ùñßä òÝðñìØAs  ) Ù çáØÝ ðßØæ4.43)  Ý  (4.44 çæîêäñã (
.òáæáèìÜ êÝðÞÜ òØ êÝÙïä 

 ÚÜÝ ðßØæá ÜÙÝÚ ,íÝßäÜ ðÝÞáØÙ ðòÝá ÜäÝÛÚ Üéæ Üäáãæ âòßÜ äñ ÜáðàæÝØ

  òáæáèìÜ êÝðÞÜ çã ÝæãÝ ÜÙ áÝäò áäæáéïæÜ íÝßäÜ ðÝÞáØÜz òØ êÝÙïä òèæ äê .

äÜ ÜÙÝÚÜ  ÝèáØñ) âòßÜ äñ áÙðáæÜ íÝß0.4d   òØÝ (z    ÝèáØñ)(1-0.5w)d  çáßÙÜä ñá

 ðÝáî ÜØð) çäÜä ÝðÜÙÝáñ áìã ,åáÙîæ ðìéæ çáÙ4.14: ( 

 Ùä ïïÞáÜä ßÝè âñæÜÜ âðÝîäá) áÝà4.45 áààéÜ àèæÝæÜ òØ çòÝèÜ (Scf  äñ

 ßÝòæÜ çÝáÞÜ äñ ÛÙÝãÜ Þãðæ ðáîä éßáÙ ëÚØÜ äãAs : 
)4.45             (                         

)t5.0d(tbS fffcf -=
 

  Ý ðßØæS0    âðêÜ åÚ êÝÛá ,ðÝðÙÝ êÝÛá Üðïæ äãÙSc,max   áÛá äê ðÛÚÝæ ØÝÜ)

)4.5 (  ã Sc,max = 0.64 S0 (/ 

   :åáÙîæ áèñ çáÙ çáßÙÜä åáÙááß âòßÜ Ùîæ òØ ßòèä òèæ äêxmax   âÝòÙ

 ðÝáî) ëÚØÜ4.14a Ý  (xmax   ëÚØä  íÝßæ ðÝáî)4.14b  ØáÜ ÜñÝðÛÜ òìéÝè  ÜèßÙØ  .(
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åØÜ x ¢ xmax    ñÝðÛ ðæÝäã) âìáÜä ÝØ  (íÝßä çÝáÞ ñÝðÛ Øä áã ØáÜ ðÙÛÜ òÝêæñæ)

 Üîáßää çÝáÞAs' .( 

 
                                                         ðÝáî5/25 

 
 åáðÙÛÜ  òðÛÝéæ ÜèáßÙÙ   :çæïäÛã åáØðè 

1  åØ  .Sc,max ¢  Scf    áã ðÙÛÜ ñÝðìxmax ¢ tf   (ëÚØÙ íÝßäÜ ðÝÞáØÜ ðæÝäã)

Üä ,òÙðÝïæÜ ÜàáñÙ ,Üìáìã áãðîä ðòÝæÝò  òÝÛáæ äêÙ áèÙäæ âòßã âòßÜ äØ éßáá

bf / h . 

 2   åØ .Md ¢  Scf fcd    Ý¢ Mcd,max Md   áã ðÙÛÜ ñÝðìx ¢ xmax    Ýx ¢ tf     

ä çãäÝ  Ý  íÝßä çÝáÞ ñÝðÛ Øx   âòß äØã âòßÜ äØ éßááòÜä ðòÝæ çãäÝ ëÚØÜ âÝòÙ

   òÝÛáæ äêÙ áèÙäæbf / h  . 

 3   åØ  .Md > Mcd,max    åäÝØSc,max  ¢  Scf     ,xmax   çòáèÝ ëÚØÜ âÝòÙ çááÛê

  äØã ,Üìáìã âðÝîä ,âòßÜ  äØ éßááòÜäbf / h    Üîáßää çÝáÞ ñÝðÛ åäÝØAs' . 

 áðïæÜ äã)  áèÙäæã âòßÜ òØ òÝØðä çòáè åÜÙ ä"èÜ åbf /h åáæáØòæ  (

 ðÝáîä4.14a   . 

 4  ðñØã .Md ¢  Mcd,max = Scf fcd    ðÙÛÜ ñÝðì-   Üîáßää çÝáÞ ñÝðÛ ØäAs'  

   åäÝØx > tf    ðÝáî)4.14b.( 

 5  ðñØã  .Md > Mcd,max   åÚÝSc,max > Scf      Üîáßää çÝáÞ ñÝðÛAs'    åÚÝ

xmax > tf    ðÝáî ÜØð)4.14b.  ( 

  ÙÝñï  ÝèááÜÛ ,ÙðÝïæ ÙÝñáß ÝèáÜ çØã ÚîÝæÜ ÙÝñáßÜ áã ðÝãÞä ñáï  ßÝã

  ðÝêáñÙ ÛáßØ åáîæØæ éÝðì áÛá äê ÚîÝáæ ÜìáìãÙ íÝßäÜ ðÝÞáØÙ ÜîáßäÜfcd     ÜÙÝÚÙÝ

x  ÙáéÜ ðæÝäã) áòáæØÜ íÝßäÜ ðÝÞáØÜ ÜÙÝÚ òØ Úîááæ ÝèáØ íÝßäÜ ðÝÞáØÜ ÜÙÝÚ  .

 äñ çÝòßòÜx  ðáî ÝèáØ0 .äáäêÙ çÝàÙÙ ÜîáßäÜ áîæØæ äñ 
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 x    ðÝáî*  ëÚØÜ âÝòÙ4.14a) 

   áã ßáèèx < tf   òØ çßÙèÝw : 

)4.46                                   (
21

cd
2

f

d

fdb

M2
11

ù
ù

ú

ø

é
é

ê

è
--=w

 

   : áã äÙïòá åèæØ åØx = w d  ¢ tf  :åØ ïÝÛÙä ñá òêã .ÜèÝãè ÜòáÜ ÜßèÜ 

)4.47              (                Sc = bf x (d ï 0.5 x) ¢ Sc,max 

  ,òáÙÝáß ÜÙÝñòÜ åØx  )  ëÚØÜ âÝòÙ ÜÞ ÜðïæÙx ¢ tf  òáæáèìÜ êÝðÞÜÝ (

  : ÜáÜòz = ( 1 = 0.5 w) d  ßÝòæÜ çÝáÞÜ  .As :áìä ÙñÝßá 

)4.48                                      (

sd

d
s

fd)5.01(

M
A

w-
=

 

   åØMd > Mcd,max    åäÝØSc,max <  Scf    ÜáÜáxmax  ¢  tf   íÝßä çÝáÞ ñðÛááÝ

  çãäÝAs :âã ÙñÝßá 

)4.49                    (

sdmax

max,cd

sd

'

s

max,cdd

s
f)x5,0d(

M

f)dd(

MM
A

-
+

-

-
=

 

  ,ÜîáßäÜ ðÝÞáØÙ çÝáÞ òÝæã âòßÙ ÜèÝòè åØAs'   áã ëØ ,Md  ¢  Mcd,max 

  : áã ðÝðÙñ áðÜ ,çÝÙñßÙ ÜØáÙÜä åáîÝðÝDMd = As' f sd (d ï ds')              çã ÝæãÝ

Mcd = Md - DMd . 

 w   âÝòæ òÙñÝßæ òêãMcd  áã Øîæáá åØ . w < 2ds'/d   òØ ßáèÞÜä ñá

 òæÝðòAs'   òØ ÙñßäÝ ÙÝñäÝw  âÝòæMd   âòß áÙÚä åáìïòÜ åáäÝïáñÜ åòÝØ áìä ,

.áèÙäæ âòß áÙÚäÝ áääã 
 

 x   ðÝáî * ëÚØä íÝßæ4.14b ) 

   áã ßáèÜä ðòÝá ßÝè ääã âðÛÙx ¢ tf  áã ßãÝÜÝ Üòñêè ÝÞ ÜßèÜ áã ßáèè çãäÝ

)  ÜßéÝè áìä åØ ) ÜèÝãè ÜèáØ4.46   (w > tf /d  .(ÜèÝãè ÜèáØ ÜßèÜÜ 

   ðñØãMcd > Scf fcd    åÚÝ )Mcd < Mcd,max  áã ðÝðÙ (x > tf   ðÝáî ÜØð)

4.14b.( 

  ðÝáîä ðÝÙêè ÜÞã ÜðïæÙ4.15  áìä ,íÝßäÜ ðÝÞáØÜ òØ ÛáðìèÝ4.15a áèñä ,

ß ÙßÝðÙ åáìÚØÜ :åáïäbf ï bw  )4.15b  çìÝÛÜÝ   (bw  )4.15c.( 
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                                                     ðÝáî5/26 

 

   ßàñÜ äê  ëÚØÙ ÜîáßäÜ ßÝã çáÙ òÝßÝãÜ ÚÝÞ(bf ï bw) tf   ßÝòæÜ çÝáÞÜÝAs 

 àèæÝæÜ òØ ðîÝáM fd : 
)4.50  (                      

)t5.0d(ft)bb(M fcdfwffd --=
                

) çìÝÛÜ äê ÜîáßäÜ ßÝã çáÙ òÝßÝãÜ ÚÝÞbw x  ßÝòæÜ çÝáÞÜ çáÙÝ (As    òØ ðîÝá

  àèæÝæÜMwd    : 

)4.51      (( ) cd

2

wwwcdwwd fdb)5.01(x5.0dfxbM ww -=-=
 

 ÝèáÜ çÝàÙÜ òÝêîæØÙ äÙïæ âòßÜ ðñØ ääÝãÜ àèæÝæÜ: 
)4.52                                       (

wdfdcd MMM +=
 

 xmax  âÝòæ êÙïááwmax   äÙØ ,wmax  çìÝÛÜ áã) ÛÙäÙ çìÝÛÜ äñ ÜÞ ÜáÜá Øä

 òØ ßáèÜä åáãáðî ÝèááÜ ÛÙäÙ çìÝÛÜ áìä Ýèäïñ ÝäÝ áèÙäæ âòß ÝèáÜwmax  âòß áìä
.(áèÙäæ 

  ðñØã åØ òêÛä òèæ äêx > tf   ØÝÜ äê ÜäÝê ÝèáØxmax  .ÝòÝØ Ùñßä ñá ,
:âã Ùñßä ðñìØ 

)4.53        (
0maxmaxwffwfmax,c S64.0)x5.0d(xb)t5.0d(t)bb(S =-+--=

 

) âÝòæ4.53 òØ êÝÙïä çòáè ( xmax  ) âÝòæ åØ .4.53 äÙïòÜ (xmax < tf   åîê áã çÙÝæ ,

  ñ  ÜßèÜÜxmax > tf  áã ßáèÜäÝ ÙÝñä ñá çãäÝ , ÜèÝãè ÜòáÜ ØäSc,max ¢ Scf  ðæÝäã)-  

xmax ¢ tf . ( 

   ÙñÝßñ ðßØäxmax  :ÜáÜá ßÝòæÜ ðÝÞáØÙ çÝáÞÜ 

)4.54                         ([ ]
sd

cd
wfwf

'

ss
f

f
xbt)bb(AA +-+=

 

:çìÝÛÙÝ ëÚØÙ åáàèæÝæÜ áìä ÝØ 
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)4.55                     (

sdw

wd

sdf

fd'

ss
fd)5.01(

M

f)t5.0d(

M
AA

w-
+

-
+=

 

 

5/21  ðÞÝìæ çÝáÞ åê ÜìáìãÙ åáãòß 
 

 òñÚÛÝæ òáèÙäæ ÜðÝî áäêÙ åáÙð åáãòß  òæÝêä ÛßÝáæÙ ÜãÝðØ òßØ êäî)
èñÜá ðÞÝìæ çÝáÞ åÜÙ ñá ,òÝðÝïã åáäêÝìÜ òÝðáï áãòß ÝØ òÝÜÝÙÚ òÝðÝï Ýæã (Üá

 åèáØñ åáäÝïáñæ åáðïæÜæ ïäßÙ ñðÛáè ÜÞ ðÞÝìæ çÝáÞ .äáêìÜ âòßÜ ÜÙÝÚ äã âðÝØä
 åäÝØ ,åáðßØ åáèÝñ çÝèãò áãðî äê òÝèêä åáØÙ ØäØ Üìáìãä âòßÜ ïÞÝß äñ ÜäØ

áÞÜÝ ðßØæ.ÝòÝØ äîèä âáØ çÝßÙä âáðî åÝïæÙ Ýèñá ðÞÝìæÜ çÝ 

  ðÝáîÙ4.16  ÜÙÝÚ äêÙ áèÙäæ âòß ÜØðáè h   ÝáòÝèìÛ âðÝØäÝ5  çÝáÞ òÝàÝæ òÝÚÝÞ

   ÝèÝã ðñØ (ÜæÚÝÛä)As1'    As2'   As3'    (âòßÜ äñ íÝßäÜ ðÝÞáØÙ)As1   As2   ðÝÞáØÙ)
. (âòßÜ äñ ßÝòæÜ 

 áßä òÝÙðÝïæ òÝàáñ áèáæ äã òÝæááï òßØ áìä .ÜìáìãÙ ÜÞã âòß òäÝÙéò ÙÝñ
 á"òÙ ÜßéÝè ÜèÝòè ,çÜæ466 1 ]1 çÝáÞ åê çáÝÞæ çÝàÙæ ðáï äñ  òäÝÙéò ÙÝñáßä [

 ßÝàÙ Øä çãäÝ Ùð ïÝáÛ áØ åÝäÚ òÝØßéÝèÜ çæ ïäßÙ .ßÝòæÜÝ íÝßäÜ ðÝÞáØÙ éðÝìæ
 åáßèÝæ áìä áàéäì âòß ÙÝñáß ÝèáÜñ) éðÜ äñ áäÝÙÚ Ùîæä ÙÝñáßÙ  .çÜÙ ñÝæáñÜ

ñá éßáä òÝÛæîáÜ çáØ (ïÞÝßÜ òðÝò áßèÝæ áìäÝ åáès /e  äñ òÝáäáÙáàìæÝï çáØ)

  èÞàÛð ãââ àâ îï ïå×àà äãÜ× ÛÞâÜÛ æ×â ×àØç ×ã .(ñÜÝÝÛ ×ã äÙÜ äàïÜØàé

h/b
   ÙÝñáßÜ äñ òÝáòááêÙÜ åÚ òðîÝè çØãæÝ òòßÝì ÝÞ ÜßèÜ äñ òÝìïòÜ ÜäÝê

 éßá áäêÙ åáãòßÙ áàéäìÜh/b  .ÜÝÙÚ 
 ááï òØÞ òæÝêä ÙÝñáßÙ òäÝÙéòÜ òØ òÝÛæÝØ ðñØ òÝÙð Ùñßæ òÝèãÝò òÝæ

 ëáêéÙ ðÙéÝÜñ áìã ,áðØáèáä Øä4.5   éßá çÝÙñßÙ ØÙÝæ .sc /ec  , áðØáèáä Øäss /es  Øä

 òØÞ .'ÝãÝ ÝòÙáÙéÙ çÝàÙÜ áðÝÙáêä åØòÜÙ ÜßðàÜ ÙîæÙ Øîæáè çÝáÞ àÝæ äã , áðØèáä
.ðÞÝìæ çÝáÞ åê âòß ÙÝñáßä ÜÛáßáÜ ÜèÝãèÜ âðÛÜ 

 
                                                                ðÝáî5/27 
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  ïáìéæ ïÝßð ðñØ çÝáÞÜ òæÝðò òØ çÝÙñßÙ ØáÙÜä ðñìØ òÙðÝïæ âðÛÙ

  Ü ðáîæ0   òØÞ òæÝêä .åáîæØæÜ äñï  çòáè åáîæØæÜ éìØ ðáî òÙðïÙ ðñØ çÝáÞÜ
æØæÜñ áèìæ çÜ ,ÜßèÞÜä âðÝîä êÝðÞÜñ áèìæ çÜÝ  (åáèàï åáðÝÙáê) åáãÝæè ÝÙ åáî

 Ü ðáîä ÜÙðáïÜ Ùïê ,Üèàï àèæÝæÜ ÙÝñáß0 ðÝáîÙ âòßÙ çÝòè ðñØ çÝáÞÜ âÝòæ .4.16 

  òØ çÝÙñßÙ ØáÙÜä çòáèAs1'  òØÝ íÝßäÜ ðÝÞáØÙ As1  åáïÝæáèÜ áèñæ .ßÝòæÜ ðÝÞáØÙ
Ù  .ÜãÝæè ÜáÜò çÝáÞÜ òÝáÝæã ðòá òæÝðò  äáêä Ýèòáèñ òÝáÝæã äã áðØáèáä Øä ÙÝñáß

 íßä ðïáêÙ)  áðàèîéïØ ßÝãÙ ðÙÝÛæ ðñØãñ çÙÝæã  .çÝÙñßÙ ÜèØÙÝò çÝáÞÜ

 áðàèîéïØï  ÜðïæÙ åÚ äÙØ ÜÙÝñß çÝáÞÜ áÙáãðæ äã òæÝðò (åáÛÝæêÙ ÜáÝîæ ÜáêÙ

 Øä ÜÞáäèØ Øää çÝáÞÜ áÙáãðæ äã òæÝðò äñ òáòÝØáîæ òÝÙñßòÜä ØáÙÜä çòáè Øä ÜÞ
 ÜìÝïòÙ .òáðØáèáä.çäáêìÜä çòáèÝ òÝæááï òÝèãÝòÜ ,ÙñßæÜ çÛáêÙ ,ÝÞ 

 
 
 
 

(Ø  òÝØæÚÝÛ 
 

  òÝîÝÙïÙ òÝØæÚÝÛÜ òÝØæÚÝÛØ' Ù Ý' çäÜä,  òïÝßÙ çãòÜ áääã áì äê òÝãÝðê
ÝãÝ åááïäß òÝßáàÙ áæÛïæ ,çãò áïÞÝß) çÝàÙÜ' åáìáêéÙ àðÝìæÜ òØ åØÝò äãÜ ,(

.ÜÞ ïðìÙ åáèÝñÜ 
 Ù ðñØ òÝØæÚÝÛÜòÝØæÚÝÛ òÝîÝÙï Ú'  ÝÛ'  ,çäÜä] òÝáßèÜ áìä Ýãðêè40 [2EN ú 

ñÜ ðñìØä áÛã ,òÝØæÚÝÛÜ çòÝØ ïÝáÛÙ çÜ .çÝàÙ áèÙæä ÛÝïÝðÝáÜÝ ðñØ åáèÝàÙÜ .òÝØÝ
 ðòÝáÙ åáÙÝðïÜ åÜ ÜÞ çáèêä ÝðßÙè.åáÜÞ áðæÚä Øä âØ åááäØðñáÜ åáèïòÙ ÝäØä 

 
 ÜæÚÝÛ5/2 
   çÝáäêÜ  ÝéáéÙ ðñØ Þìðà òðÝî äêÙ âòß çÝòè400  Ü ÝéáéÙÝ  'ææ çÝòßò200 

 âòßÜ ÜÙÝÚ .'ææ600 Ù çÝàÙ áÝñê âòßÜ . 'ææ20  ) êäÝîæ ÝÙ çÝáÞÜÝF  ßáèÜä ðòÝæ    . (

 áãds =  60 mm . 
  ðÝÞáØÜ)  äÙïä ÜÞ âòß äÚÝéæ ÝòÝØ áäæáéïæÜ çãòÜ àèæÝæ òØ êÝÙïä ñá

.(ÙßðÜ éáéÙÜ ÛîÙ íÝßäÜ 
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 çÝðòì: 

  áìã ,âòßÜ áèÝòè :åÜ Ýðéæáèñh = 600 mm   ds = 60 mm   d = 540 mm  

bt = 400 mm  bb = 200 mm    ßÝòæÜ çÝáÞÜ ðáî äñ ÛÙÝãÜ Þãðæ ðáîÙ âòßÜ ÙßÝð 

ã220 mm     äáêìÜ âòßÜ äã äñ áààéÜ àèæÝæÜ  .- S0 :ÜáÜá 

S0 = 0.5 220 540
2
 + 2 0.5 90 540 2/3 540 = 49.57 10

6
 mm

3
         

 áààéÜ àèæÝæÜ   :íÝßäÜ ðÝÞáØÜ äñ áÙðáæÜSc,max = 0.64 S0 = 31.725 10
6
 mm

3 

:íÝßäÜ ðÝÞáØÙ çÝáÞ Øää òØñä äÝãá ÜÞ âòßñ áÙðáæÜ çãòÜ àèæÝæ 

Mcd,max = Sc,max fcd = 31.725 10
6
 8.6 Nmm = 273 kNm               

 ÜÞ àèæÝæ òäÙï âðÝîä ÜñÝðÛÜ çÝáÞÜ òÝæã ÙÝñáß ñðÛáè Øä ÛÝê äãï 

éæ ÜÙÝñòÜ  çÝáÞÜ òÝæã ÙÝñáßä ÜñÝðÛÜ òáæáèìÜ êÝðÞÜ ÜêÝÛá Øä áã ëØ òïìAs . 
 

 ÜæÚÝÛ5/3 

 Ù çÝàÙ áÝñê âòß çÝòè20  êäÝîæ çÝáÞÝF  :ÝáòÝÛáæÝ áèÙäæ âòßÜ .b =300 mm   

h =  600 mm  ds = 70 mm   d = 530 mm   çÝàÙÜ ðÝÙê  .fcd = 8.6 MPa   ðÝÙêÝ

  ÜÛäìÜfsd = 350 MPa . 

  Üæ .Ø :Øîæ  çÝáÞÜ òÝæã áÜæÝ äÙïä äÝãá ÜÞ âòß ðñØ áÙðáæÜ çãòÜ àèæÝæ

              çãò  àèæÝæ âòßÜ äê äêìá ðñØã ÜñÝðÛÜ çÝáÞÜ òÝæã áÜæ .Ù      .ÜæáØòæÜ

Md = 200 kNm ? 

 
 çÝðòì: 

Mcd,max = 0.32 b d
2
 fcd = 0.32 300 530

2
 8.6 = 23.19 10

7
 Nmm = 232  kNm 

                     :ÜáÜá ñÝðÛÜ çÝáÞÜ2

s mm1563
35.053.080.0

232
A ==
 

  ðñØãMd = 200 kNm : 

33.0
6.8530300

102002
11

21

2

6

=ù
ú

ø
é
ê

è
--=w

   2

s mm1291
35.053.0)33.05.01(

200
A =

-
=
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 ÜæÚÝÛ5/4 
 Ù çÝàÙÜ) çáÝÞæ çÝàÙæ âòß çèãòä ñá30  àèæÝæ òØñä äÚÝéæÜ ( êäÝîæ çÝáÞÜÝ

  çãòMd = 150 kNm ÜÙÝÚÜ çáÙ éßáÜ .  äáêìÜd    ÜÙÝÚÜ çáÙÝb  ÜáÜá2  ßáèÜä ðñìØ .

  áãds = 60 mm  . 
 çÝðòì: 

  :åÜ âòßÜ áèÝòèd/b = 2  ds = 60 mm   fsd = 350 Mpa  fcd = 12.7 Mpa  

 òØ äÙïä ðñìØd  âÝòæMcd,max  :Mcd,max = 0.32 0.5 d d
2
 13.0      

d = 414 mm ~  420 mm   b = 210 mm  h = 480 mm . 

òðÝïÙ  :Mcd,max = 0.32 210 420
2
 13.0 10

-6
 = 154.1 kNm   

   :ÜñÝðÛÜ çÝáÞÜ òÝæã2

s mm1276
35.042.08.0

0.150
A ==
 

 ÜæÚÝÛ5/5 

    òÝÛáæÙ âòß çÝòè200/450 mm Ù çÝàÙæ áÝñê âòßÜ  .30  ðÝÞáØÙ çÝáÞÜ .

 ) äÝÚê ÚÝéæ ÜáÜá (ñðÛáá åØ) íÝßäÜf  ) êäÝîæ ÜáÜá ßÝòæÜ ðÝÞáØÙ çÝáÞÜÝ (F  êÙï . (

Ø  çãò àèæÝæ äÝêìÙ ñÝðÛÜ çÝáÞÜ òMd = 200 kNm  áã ßáèÜä ðòÝæ .ds' = 40 mm    Ý

ds = 60 mm . 

 
 çÝðòì: 

  :âòßÜ áèÝòèd = 390 mm   b = 200mm   .fcd = 13.0 MPa fsd = 350 MPa    )F   (

fsd = 200 MPa )f   (Md = 200 kNm   . 

Mcd,max = 0.32 200 390
2
 13.0 10

-6
 = 126.5 kNm  <  Md 

DMd = Md ï Mcd,max = 200 ï 126.5 = 73.5 kNm  

   :íÝßäÜ ðÝÞáØÙ çÝáÞÜ2

s mm1051
20.0)04.039.0(

5.73
'A =

-
=

 

:ßÝòæÜ çÝáÞÜ 

2

s mm17581158600
35.039.080.0

5.126

35.0)04.039.0(

5.73
A =+=+

-
=
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 ÜæÚÝÛ5/6 

  òÝÛáæÙ âòß çÝòè250/500 mm  Ù çÝàÙæ áÝñê âòßÜ  .ðÝáîÜ áìä30ðÝÞáØÙ . 

ÝÙ íÝßäÜ   òÝàÝæ áèñ ñá2 f14 mm   ðñØãds' = 40 mm çãò àèæÝæ äêÝì âòßÜ äê. 

Md = 220 kNm   ßáèÜä ñá . (êäÝîæ) ßÝòæÜ çÝáÞÜ òØ Ùñß .ds = 60 mm . 
 :çÝðòì 

  :åáèÝòèÜfsd = 200 MPa )f  (fsd = 350 MPa )F  (fcd = 13.0 MPa  b = 250 mm 

d = 440 mm   .As' = 300 mm
2 . 

DMd = As' fsd (d ï ds') = 300 0.20 (0.44 ï 0.04) = 24.0 kNm 

 
Mcd = Md - DMd = 220 ï 24 = 196 kNm 

40.0
0.13440250

101962
11

21

2

6

=ù
ú

ø
é
ê

è
--=w

 

:òÝßÝã äñ äïñæ áÝÝñ âÝòæ ßÝòæÜ çÝáÞÜ 

As 350 = 300 200 + 0.40 250  440 13.0            As = 1806 mm
2 
 
 

 ÜæÚÝÛ5/7 

 è òÝÛáæÙ âòß çÝò200/400 mm  Ùæ áÝñê âòßÜ  .ðÝáîÜ áìä30   ÝÙÝ2 f 10 

 âòßÜ äê äÝêìÙ ßÝòæÜ ðÝÞáØÙ âòßÙ ñÝðÛÜ çÝáÞÜ òØ Ùñß .íÝßäÜ ðÝÞáØÙMd = 70 

kNm  ßáèÜä ðòÝæ .ds = ds'  = 50 mm )  êäÝîæ ÚÝéæ ÜáÜá ßÝòæÜ ðÝÞáØÙ çÝáÞÜ .F.( 
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 çÝðòì: 

   :åáèÝòèÜ ÞÝãáðh = 400 mm  b = 200 mm fcd = 13.0 MPa  d = 350 mm  

fsd = 350  MPa )F  (fsd = 200 MPa )f   (Md = 70 kNm. 

DMd = As' fsd (d-dsô) = 156 0.20 (0.35 ï 0.05) = 9.4 kNm  

Mcd = Md - DMd = 70.0 ï 9.4 = 60.6 kNm  

       :äÙØ
w>== 29.0

350

50
2

d

d
2

'
s            

22.0
0.13350200

106.602
11

21

2

6

=ù
ú

ø
é
ê

è
--=w

 

 

 òæÝðòÙ ÙñßòÜä çáØ çãäAs' :âòßÜ òäÝÙéòä 

       Md  =  Mcd   = 70 kNm             
25.0

0.13350200

100.702
11

21

2

6

=ù
ú

ø
é
ê

è
--=w

 

2

s mm653
35.035.0)25.05.01(

70
A =

-
=

 

 

(Ù  òÝØæÚÝÛ 
 

 ÜæÚÝÛ5/8 

Ù çÝàÙæ áÝñê çáÝÞæ çÝàÙæ âòß çÝòè20 òÝÛáæÜ .   :ðÝáîÙ òÝèÝòètf = 150mm  

bf = 800 mm                ds = ds' = 50 mm h = 500 mm   bw = 250 mm  âòßÜ äê.

  çãò àèæÝæ äêÝìMd = 200 kNm .( êäÝîæ ) âòßÙ ñÝðÛÜ çÝáÞÜ òØ  Ùñß  . 

 
 çÝðòì: 

  áã ÜßáòìÙ ßáèèx < tf      .
16.0

6.8450800

102002
11

21

2

6

=ù
ú

ø
é
ê

è
--=w

 

 Ý ðßØæd = 450 mm :x = 0.16 450 = 72 mm < tf    .ÜèÝãè  ÜßèÜÜ 

  åØ ïÝÛÙèx  < xmax    åØÜ ðæÝäã)Md  <  Mcd,max : ( 

S0 = 0.5 800 450
2 
ï 0.5 550 300

2
 = 56.25 10

6
 mm

3  
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Sc,max  =  0.64 S0 = 36.0 10
6
 mm

3   áã ßáèè åØxmax  :äÙïè ëÚØÜ âÝòÙ 

800 xmax (450 ï 0.5 xmax) = Sc,max = 36.0 10
6
 mm

3  Ŷ  xmax = 115 mm 

 ðæÝäãï  áã ÜßáòìÜ òßèÜ xmax < tf   åÚÝx < xmax  âñæÜÙ çãäÝ ÜèÝãè ÜòáÜ

  òÝÛáæÙ áèÙäæ âòß äØã ØáÜ çÝáÞÜ òÝæã ÙÝñáß âðÝîä òÝéßáòÜÜbf / h : 

                      2

s mm1380
35.045.0)16.05.01(

200
A =

-
=

 

 

 ÜæÚÝÛ5/9 
òß çÝòèÙ çÝàÙæ áÝñê ,ðÝáîÜ áìä ,íæï òðÝî äêÙ çáÝÞæ çÝàÙæ â30 òÝÛáæÜ . 

 :çÜ òÝèÝòèÜtf = 250 mm  bf = 650 mm  bw = 350 mm  h = 700 mm  ds =60mm  

  çãò àèæÝæ äêÝì âòßÜ äêMd = 1200 kNm  ÜÞ àèæÝæ äÙïä äÚÝéæ âòßÜ åØ ïÝÛÙ

 ) çÝáÞÜ òÝæã  áÜæÝF .ÜñÝðÛÜ ( 

 
 :çÝðòì 

   åØ ïÝÛÙèMd > Mcd,max ? 

S0 = 0.5 650 640
2
 ï 0.5 300 390

2
 = 110.305 10

6
 mm

3 

Sc,max = 0.64 S0 = 70.60 10
6
 mm

3    Mcd,max = Sc,max fcd = 917.8 kNm 

  åèæØMd > Mcd,max    Üîáßää çÝáÞ ñÝðÛ çãäÝAs' . 

  áã ßáèèxmax ¢ tf : 

Scf = 650 xmax (640 ï 0.5 xmax) = 70.60 10
6
 mm

3   «  xmax = 202 mm  

  åèæØxmax < tf     âã åØÝwmax = 202/640 = 0.316   

:íÝßä çÝáÞ òÝêîæØÙ äÙïòæÜ  àèæÝæÜ ïäß  çØãæDMd =1200ï917.8 = 282.2 

kNm  

2

s mm1367
35.0)05.064.0(

2.282
'A =

-
=

 

2

s mm623348661367
35.064.0)316.05.01(

8.917
1367A =+=

-
+=
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 ÜæÚÝÛ5/: 

ñê íæï òðÝî äêÙ âòß çÝòèÙ çÝàÙæ  áÝ30  òØ Ùñß .ðÝáîÙ çÝòèã òÝÛáæ äêÙ

  âòßÜ  äê äêÝìÜ àèæÝæ ðÝÙê ñÝðÛÜ çÝáÞÜMd = 1100 kNm . 

 
 :çÝðòì 

  åØ ïÝÛÙèMd > Mcd,max  : 

102.76 10
6
 mm

3  S0 = 0.5 750 630
2
 ï 0.5 400 480

2
 =       

Sc,max = 0.64 S0 = 65.80 10
6
 mm

3          
Mcd,max = Sc,max fcd = 855.4 kNm 

Md > Mcd,max    ñÝðÛ çãäÝAs'   åØ òêã ïÝÛÙè     .xmax ¢ tf : 

Scf = bf tf (d ï 0.5 tf) = 750 150 (630  - 75) = 62.44 10
6
 mm

3
 < Sc,max 

  áã ØáÜ ÜèïéæÜxmax > tf   òØ ñìßè òØÞÜ ÜßèÜÜ åêÝxmax :ñÛßæ 

Sc,max = 65.80 10
6
 = (bf - bw) tf (d - 0.5tf) + bw xmax (d - 0.5 xmax) = 

= (750 ï 350) 150 (630 ï 75) + 350 xmax (630  - 0.5 xmax)  

xmax = 170 mm  äêæ çáÙ çáßÙÜä âðÝî ñá ßÝòæÜ çÝáÞÜ ÙÝñáß çMwd  ÝM fd  ðñØã

:Ýäñæ òáæáèì êÝðÞ åÜæ ÛßØ äãäMwd = 350 170 (630 ï 0.5 170) 13.0 10
-6

 = 

421.6 kNm  

     M fd = Mcd,max ï Mwd = 855.4 ï 421.6 = 433.8 kNm  

  :íÝßäÜ çÝáÞÜ2

s mm1205
35.0)05.063.0(

4.8551100
'A =

-

-
=

 

:åáàèæÝæ äñ ÝØ òÝßÝã äñ äïñæ áÝÝñ âÝòæ ØÝîæä çòáè ßÝòæÜ çÝáÞÜ òØ 
 

[ ] 2

s mm5644
350

0.13
170350150)350750(1205A =+-+=

 

2

s mm5648
35.0)17.05.063.0(

6.421

35.0)075.063.0(

8.433
1205A =

-
+

-
+=
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 ÜæÚÝÛ5/21 

 áìä çáÝÞæ çÝàÙæ íæï âòß çÝòè Ù çÝàÙÜ .ðÝáîÜ30  òêäÝîæ ÜÛäìÜÝ- F . 

   çãò àèæÝæ äêÝì âòßÜ äêMd = 500 kNm .ñÝðÛÜ çÝáÞÜ òØ Ùñß  . 

 
 :çÝðòì 

 íÝßä çÝáÞ ñÝðÛ åØ ïÝÛÙèï As'   : 

  S0 = 0.5 800 540
2
 ï 0.5 500 420

2
 = 72.54 10

6
 mm

3 

Mcd,max = 0.64 S0 fcd = 603.5 kNm   .íÝßä çÝáÞÙ âðÝî çáØ 

  åØ ïÝÛÙèxmax ¢ tf : 

Scf = bf tf (d ï 0.5 tf) = 800 120 (540 ï 60) = 46.08 10
6
 mm

3 

Sc,max = 0.64 S0 = 46.43 10
6
 mm

3
 > Scf      ñ ØáÜ ÜèïéæÜxmax > tf . 

  åØ ïÝÛÙèx < tf     :
18.0

0.13540800

105002
11

21

2

6

=ù
ú

ø
é
ê

è
--=w

    

x = 0.18 540 = 97.2 mm < tf  Ý çãäw :çÝáÞÜ ÙÝñáßä Üïáìéæ äáêä ÜÙñÝßñ 

                 2

s mm2907
35.054.0)18.05.01(

500
A =

-
=

 

 

 

(Ú òÝØæÚÝÛ 
 

  ,äáêä 'Ù Ý 'Ø Ù ðñØ òÝØæÚÝÛÜ çòÝØ çÜ çäÜä òÝØæÚÝÛÜ ,ØÝÙæÙ ðæØèñ áìã

] áìä åáãòß äñ ÙðÝïæ ÙÝñáß áääã áìä òÝãÝðê âØ40 [2EN åÜ ÝðßÙè ðñØ åáèÝàÙÜ .

èÝàÙä ðòÝáÙ åáÙÝðïÜ áäØðñáÜ çïòÙñ ÜìáØ :ÜæÚÝÛä .áäØðñáÜ çïòÙ ðñØ åá

Ù ØÝÜ çÝàÙÜ20  çÝàÙ ðßÙè16/20C  ] áìä ÙÝñáß ðÝÙê8Ù âðêÙ ÜáÜá ÜÞ .[23 ã ðæÝäã ,
15% äÛÙÜãòß ÙÝñáßÙ áÛáßáÜ äÛÙÜÜ ÝèáØ äÙØ ÜÞ .á.åáèïòÜ áèñ çáÙ å  äÛÙÜ ÛÝê ñá

 ) åááïäßÜ çÝßàÙÜ áæÛïæ çáÙ1.5 ] áìä40 òæÝêä [2.0 ] áìä1 Ù ( [acc   )0.8 ] áìä1 [

 òæÝêä0.85  ðñØßèÝÜ ] áìä40 ) íÝßäÜ ðÝÞáØÜ äñ áäæáéïæÜ ÜÙÝÚÙ ( [0.4 ] áìä1 [
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 òæÝêä0.5 ] áìä40 äÛÙÜÜ ,ÛÙäÙ çÝàÙÜ ÚÝéÙ áÝäòÜ äãã ,ëÝéÙÝ áÛÛÜ ÞÝÞáï ñáñ âã ,( [
Ù ) åááäèáæÝèÜ åáïÞÝßÜ éßá áìä ðòÝá ÝØ òÝßì ÜáÜá20 Ù òæÝêä23 .(äáêä ÜæÚÝÛä 

 ) ÜßéÝèÜ4.3:äáêä ðÝæØÜ òÝÙïêÙ ëïÝòÙ ÜáÜò ( 

                  
cyl,ck

2

c

cyl,ck

ccmax,cd f85.0bd25.0
f

d75.0bd50.0M @=
g

a
 

    (?òÝèðæñÝ òÝðáÜÞ áæêàæ) ßáèè ÝèßèØ äÙØ
cd

2

max,cd fbd35.0M =
 . 

 âã áìä  áØèòÜ åááïòÜä âáñæá  Md = Mcd = Sc fcd  

 
             :åäÝØ

Mcd,max = Sc,max fcd = 0.70 S0 fcd              
 

 

 ÜæÚÝÛ5/2Ø 
 ÜæÚÝÛÜ òØ òæØÝò ÝÞ ÜæÚÝÛ)4.1 (âñæÜÙ âãÝ. 

 ðñØã ,äÙïä äÝãá ðÝáîÙ çÝòèÜ âòßÜ ðñØ áäæáéïæÜ àèæÝæÜ òØ Ùñßä ñá

 ÚÝéæ ØÝÜ çÝàÙÜ16/20C     òêäÝîæ ÜÛäìÜÝū=400 MPa  . 

 
 çÝðòì: 

 âòßÜ áèÝòè:h = 600 mm   ds = 60 mm   d = 540 mm  bt = 400 mm  

 bb = 200 mm  . ã ßÝòæÜ çÝáÞÜ ðáî äñ ÛÙÝãÜ Þãðæ ðáîÙ âòßÜ ÙßÝð220 mm     .

  äáêìÜ âòßÜ äã äñ áààéÜ àèæÝæÜ- S0 :ÜáÜá 

S0 = 0.5 220 540
2
 + 2 0.5 90 540 2/3 540 = 49.57 10

6
 mm

3
         

   :íÝßäÜ ðÝÞáØÜ äñ áÙðáæÜ áààéÜ àèæÝæÜSc,max = 0.70 S0 = 34.70 10
6
 mm

3 

  :ÜáÜá çÝàÙÜ äñ çãòÜ ïÞÝßfcd = 0.85 16 /1.5 = 9.07 N/mm
2

 

:íÝßäÜ ðÝÞáØÙ çÝáÞ Øää òØñä äÝãá ÜÞ âòßñ áÙðáæÜ çãòÜ àèæÝæ 

Mcd,max = Sc,max fcd = 34.70 10
6
 9.07 Nmm = 314.6 kNm               

Ýîä ÜñÝðÛÜ çÝáÞÜ òÝæã ÙÝñáß ñðÛáè Øä ÛÝê äã ÜÞ àèæÝæ òäÙï âðï  ÜÙÝñòÜ

  çÝáÞÜ òÝæã ÙÝñáßä ÜñÝðÛÜ òáæáèìÜ êÝðÞÜ ÜêÝÛá Øä áã ëØ òïìéæAs . 
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 ÜæÚÝÛ5/3Ø 

  âòß çÝòè ðÝáîÜ áìä çÝàÙ áÝñê16/20C   êäÝîæ çÝáÞÝ ū=400 Mpa .   

äñ çãòÜ ïÞÝß   çÝàÙÜfcd = 9.07 MPa  Ýäñ   ÜÛäìÜfsd = 350 MPa . 

 
   çÝáÞÜ òÝæã áÜæÝ äÙïä äÝãá ÜÞ âòß ðñØ áÙðáæÜ çãòÜ àèæÝæ Üæ .Ø :Øîæ

              çãò  àèæÝæ âòßÜ äê äêìá ðñØã ÜñÝðÛÜ çÝáÞÜ òÝæã áÜæ .Ù      .ÜæáØòæÜ

Md = 200 kNm ? 

 
 çÝðòì: 

Mcd,max = 0.35 b d
2
 fcd = 0.35 300 530

2
 9.07 = 26.75 10

7
 Nmm = 267.5  kNm 

                     :ÜáÜá ñÝðÛÜ çÝáÞÜ2

s mm1861
35.053.0775.0

5.267
A ==
 

  ðñØãMd = 200 kNm : 

  
31.0

07.9530300

102002
11

21

2

6

=ù
ú

ø
é
ê

è
--=w

                                                

2

s mm1276
35.053.0)31.05.01(

200
A =

-
=

 

 

 ÜæÚÝÛ5/4Ø 

  çÝàÙæ âòß çèãòä ñá25/30C   òêäÝîæ ÜÛäìÝū=400 Mpa òØñä äãÝá ðñØ 

 çãò àèæÝækNm150  ÜáÜá ÙßÝðÜ .0.5   äáêìÜ ÜÙÝÚÜ åáæêìd   ßèÜ .ds = 60mm . 

.ÜñÝðÛÜ çÝáÞÜ òÝæã òØ Ùñß 
:çÝðòì 

 :åÜ âòßÜ áèÝòèd/b = 2 ds=60 mm  fsd =350 Mpa  fcd=0.85 25/1.5=14.17 Mpa  

 òØ äÙïä ðñìØd  âÝòæMcd,max  :Mcd,max = 0.35 0.5 d d
2
 14.17=150 10

6
      

d = 393 mm ~ 390 mm   b = 195 mm  h = 450 mm . 

  :òðÝïÙMcd,max = 0.35 195 390
2
 14.17 10

-6
 = 147.1 kNm   


